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�� ���	��������� 3 
�����

� ����:
��������$ 	�� �1��	
� 
� (�
��� �1��>������ �
�(�� �� 
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���� 	�,������ 	��������� ��� ��I������� 
� �����	��� �� 
�
���
���$ ��� ���������� 	������
�
��� �� ����8
� ���:�

�� ��� 	��	������ ����������
�������
��!!!

*�����	� �������,������� ��� #����� �,��
��� �� 
�2������� ���
 ��� �	����:

���� �� 
������ ��� 	��	������ ���������� ����5��� �� 	������ ���

��$ ��������� 	��
��� ������� ��
������ �� ���
��� �	���8��� ���������

��� �������	����� ��� ������
���	�������� 3 
��������� KCFL! #��� �������$ �
� ��� ��(�
�		� ��� ������� ������
��������������� �� ������� �� ������� ���	���
� 3 ��4������� ������ �� ���	�:
������$ �
������ �����	�����
�� ��1 ������� �1��>��� �� 	��	������ ����������! 2
�

B



!

��� ���
����� ���P� ��� ��	����� �� ���
���� ��

��
���� �� �9�� �� ��
� ����� ��:
��
����� 	��������� ��� ������� �� ���
��� �	���8��� ��� ��� �������

��� �� �����
��/������� 3 B�� ��!

)�� 	������� ����
���� ������� ��� ��	������� 	����� -
�(��� "�������� �� 0������
)�����, 3 ������������ �� �����	��� �� 
� ���
��� ���� 
�� �������������� 3 �����
���	�������! ��� ��� ����8
� �� ��
����� /�������� 	�� 
� )<+:*<�2$ �� �����(���
����� ������ �������������� �� ���$ �
� ��� ����� ��� ������� �������
� �� ������
�� 
� ���������� ��������� 	������
�
������ ���	��� ��1 ���������� B�$ 
� �������
3ω! *�� 	������� ����
���� ������������� KBBL ��� ������ 3 ��������� �� ��5��$ ����
�� ������� ��
���� �M �� ���������� ��������� ������� �� ���	���!

#��� �� /����$ ����� ��
�� �

��� , >��� ���������$ �(�� ��4������ ��5����/� � �.:
��� 
�� �������$ ���	������ �� ������������ 
�� ��(������� �� ���

� �������� ��
�����	��� ��� 	������ ���� 
�� ����8
� �� ��
����� N �		�������� 
� 	�����
� ��	���
�� ���������� 	������
�
��� ��� ����8
� ��� 
� �����	��� �� 
� ���
��� N �� 	�����
�
������� 
� ������ ��������� ��� 	������ 	����� ��1 �
������� �� &��� ����
�!

Q� ����� ������ �� ����8
�$ ���
���� ��� ��� R�/��� ��� �� �� *<�2 ����
��� 	����� �� ������ �� 	���� 
� ������
���� �� ���4������ 
�� 	����
��� �������!
+8� �� ������ �� ���	
����$ �� 	������
��� �8� �� /���� (����� 
�� ����������$ �
 ����
� 	��� ����������� �� ��(�
�		�� ����� 	��	�� 8
�
�� �� /����������! )�
� � ��	��:
����� ��� 	��� ��	������� �� �� ���(��
 �� ��
��! +(�� 
����� �� ��(���:/���� �� ���
��/������������ �� 	9
� �+�-6+" �� �����:/���������� �� 
�2������� ���
$ �
 �����
������������� 	�����
� �� /�������� �� ��
� ��5���! �� �� ��(���:/���� ��� ��S�����$
-
�(��� "�������� ��(����� �� ���
���� ��� ��� ��������� �� ��
����� �������������
��� ��	����� �� ��
��������� �� ����� ���(�

� ����������$ �(�� ��� �������
��� ���:

����� �� 	
������� ������ �� ��������! )���� �� ���
 ��8 ������
������ �� /��� ���
���������� ��.��
��� ���������� 3 
� /���������� �� ��
� �,��
��� �����:����������!

����� ������ �� ��(�
�		������$ �� ������� �� �� ��I�1���� 	
�� ����$ �� ��:
������� 	������� 
�� �(������ ���
����� �� 
�� ����
���� �������!

*� 	������ ���	���� ��������� 
� ����� ��������� �� 
������ �� �����	��� �� 
�
���
��� ���� ��� ��������������$ �� ��8������� 
�� ������� �� ���� ����� 
� 	��:
���$ �� �1	����� 
�� ��4������ ���

�� ���
���� 	��� �����	����� 
�� �������$ �� ��
�������� 
����� �� 
���� �� 
� ��������� ���� 
� ������� 3 ���(��� ���
���� ���(��1
���������
�� ���
���� 	�� �������� ����	��!

*� ������ ���	���� ������ 
� 	������
� �� /���������� ��� ����8
� �� 
� �������
�� ������ 3ω$ �� �1	����� 
�� 5����8������� ��� ����1 ������
������� ���	���!



%

*� ������
�� ���	���� ������ �� 
������ �� 
� ����������� ��������� �� ����8
�
������ �� ��
�����$ ��������� �������� �� ��/������$ ����� ��� 	����
��� �������
8��
�� �� ��	��������
�� �4�������! *� �9
� 	��������
 �� 
���	��� ����������/ �� 
�
�������� ��� ����8
� ��� 
� �����	��� �� 
� ���
��� , ���� ���������!

*� ������
�� ���	���� ��� ����� 3 
������ ����� ��������� 	������
�
�� �� ����8
�
�� ��
�����$ 
�� ����8
� T�������1T$ ��� 	��������� ��� �������� ��� 
��� 
�������!
�� ��

�� ���������� ��(������ �
����� 
�� 	������ ��� ��������� ������ �� ���	���:
�����$ �� ���� ����������� 3 �����(�� ��� ������������ �� 
� ����������� ���������!

+� ����� �� ����� ��
��$ ���� ���� ������ ���
����� ���������� ��1 	��	������
���������� �� ��� ����8
�$ �� �(��� ����
� ��� ��

��������� �(�� <��, )�

�� ��

�2������� ���
 	��� ������� ��� �< � ��1 ������ ���	��������! )�� ���(��1 ������
	�������� �� ������
�� ���	����!

#��� 8��� �� ���������$ ���� 	����������� 
�� 	������� 	�����,	�� ���	
��� ��
����:��	����� �nde ���������� ��(�
�		�� �� ����� �� ��� C ������!
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*� ������	���� �
������� �� 
�� 
��� �� 
� �������,������� �1	
������ ���� 
��
	��	������ ���������� ��� �������1 ���
���� �
��������� 3 ���	������� �������� ��
5�����3 ��� ���	�������� ����& ������! #��� �� ������ ���	������ n ������ 	��
�3$ 
� ���
��� �	���8��� �� �������� cv = ∂U

∂T
= 3nkB �� (���8� ���� �1	��������
�:

����!  ��� 	��� �1	
����� 
�� ���	��������� ��1 ������ ���	��������$ �
 /��� /����
�����(���� 
� ������	���� ����������� �� ������
 �� 
�� 
��� �� 
� 	�,����� ���������!
#��� ��� ���������� �������������$ ����� 
�� ����8
� �� ��
�����$ 
�� 
�������� ��:
�������������� �� �����	��� �� 
� ���
���$ 5����� 
3 ��8��������
��$ ��(������� ���:
	����
�� ��1 ���������� ��� ��������������$ ����8��� 
� ����������� ��������� ��
��� �������

���! <� �����
� ��� 	�,����� �������	���� ����� �� ���	
�1�$ ���� 
�
������� ��� �� ��(�
�		�����$ �� ��� �� ���	��� ��� �� ��
� 	�� �� ������� �1	���:
�����
��!

��� �� 	����	 �� ���	�	

���� �� ������
$ 
� 	������� ��� ������ ��� ��	����� ��
�� ��� ��������� 	���������
�� ����/� �
����������! �� /��� �� 
���������� ���������$ ��� ������ 	���
���� ���
������� ��������� ��� ��

� �� (������ ������ �� 
��� 	������� ������
����! *� ������

��� ���� 	�� 
�����
������ �

H =
∑
R

P (R)2

2M
+ U ?B!B@

�M P (R) ��� 
� �������� �� ���(����� �� 
������ ���� 
� 	������� ������
����
��� R$  
� ����� ��������$ �� U 
�������� 	�������

� ����
� �� ������
! + ���	�:
������ ��

�$ 
� ������� ��� 	�������
� �������������� ��� 
���� 
�� ������ ����� ��1
��8��� 
� 	������� ������
����! �� /��� �� ��	
������� ��� ������ �� 
��� 	�������
������
����$ ���� ������ �� ����� ��������� 	�������

� ��� ���5������ �� �������

�



)

�� 	�������
 	��� ���� 
� ��� �������� �������� ������
��! <� ����������� ��� ��:
	
�������� ��� ������ 	����� ��(��� 
� �������� �����:��������$ 
����������	��

�����
��
� 	����� ���1������ ��� ����
���� ����������/� 	����� ��� 
�� (��������� ��
������! �������� ������������ 
� ��� B�$ ��� �� ������
��� 3 C� ?���	���� �� �� �C
�� KFCL@!
���� 
� ��� ����� ������ B� �� N ������ �� ����� M $ ��	���� 	�������������

����� 
������� a$ �� ����������� �� 	����� ��	
�������� ��� ������ 	�� ��		��� 3

��� 	������� ������
���� u(na)$ �� �� ����
����� 
� ���	
��� ����� (������ 	�� ���
�������� �� ������� U$ ����� ������� �� ��� ���� 
� /���� �
������� �

Uharm =
1

2
K
∑

[u (na) − u ([n + 1] a)]2 ?B!�@

-� �� ������ 
�� ��������� �� ���(����� ���������

M (na) = −∂Uharm

∂u (na)
= −K [2u (na) − u ([n − 1] a) − u ([n + 1] a)] ?B!C@

<� 	������ 
�� ���������� ��1 
������ 	���������� �� "���:%�� U�����$
u ([N + 1] a) = u (0)$ �
 , � � ��
������ ��4������� �� ��� ��������� �� ���(�:

���� �

u (na, t) ∝ ei(kna−ωt) ?B!E@

*� ��������� ��1 
������ �1��� ��� eikNa = 1$ ��	
������ k = 2π
a

n
N

-� � ���� � ��
������ ����������$ ������ kn 81��� 
� (�
��� �� ω$ �(��

ω (k) =

√
2K (1 − coska)

M
= 2

√
K

M
sin

∣∣∣∣12ka

∣∣∣∣ ?B!�@

)� ������������ �		
���� 3 �� ������ C� ���	������ N = N1N2N3 ������$ N1

������ ��
�� 
� ��������� x$ N2 ��
�� y �� N3 ��
�� z$ �� ����������� ��� 	�������
�
�������������� ������� ?�� �� �� 
����� 	
�� ��1 ������������ ����� 	������ (������@$
����� ��� ����
���� ����
�����! )� ���

� ���	
�� 	����� �� ������� 
� �����	���
��������� �� ���� �� �������1 �� 
�������� ���
������� 
����� �� 	��������� 	�� ��
��/���� ����������1! *� 	������� ���� ����� �� ������ 	��� >��� �����	���� ����
/���� ������� 	
���� ���	
�� �

u (R, t) = εei(k.R−ωt) ?B!F@

ε ��� 
� (������ �� 	�
���������$ �� ����� 
� ��������� �� ��	
������� �� 
������!
*�� (�
���� �� k 	������� ������ �� ���(��� ������8���$ �� ���� 
� ������ ����	�����$
���� �������� 
� ��
����� �

k =
n1

N1
b1 +

n2

N2
b2 +

n3

N3
b3 ?B!G@

���� �(��� �� ���(��� N (�
���� 	������� �� k$ ��$ �� ������ ���	�� �� (������
�� 	�
���������$ �
 , � �� ���� CN ����� ������1 �� ��	
�������! + ������ k$ ����
������� ��� ������� 
����������
� �� ���1 �������� �����(�����!
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������ B!B V ���������	�
�� �
�� �	���� ��
��	��
� � �	 �	
��� ���
���� ��� 	����� ���� �
�

��������
�� ��� 	����� ��� ������ �� �	�� �� �	�� �� �� 	� ������ ��� ���� ����
���
�	�� ��
����	��	�� 	� ��
� �� ��� ��� ���� �� ����
��� ��� ���� �� ���
�� 	��� �	 ������	�
�� ����� �
	��
��� z� �� ��� ����
 �� ���� �� ����
�� ����� �
	�� ��� y�

#��� �������� 
�����
������ �� ������
 ���������� �� N ������$ �� 
� ������
��
����� 3N ����

������ ����	�������$ ���� 
�� /��������� ���� ��

�� ��� 3N �����
������1 �� 
� ������� �
�������! *� ������������ 3 
�������� ����
� ���� ���� ���:
��
 	������
��� �� 	�
������ ωS (k) �� 	��� �(��� ����� ������
� ������� �� (�
����
(nkS + 1/2) h̄ωS (k) �M nkS$ 
� ������ ���1��������� �� ���� �����
$ ��� ���������
��1 (�
���� �$ B$ �!!! Q� ���� �� ���� 
� ������
 ��� �	���8� �� ������� 
� ������
���1��������� �� ������ ��� 3N ����� ������1! *�������� ����
� ��� 
� ����� ��



0

������ 
�� �������� ��� ����� ������1 ����(����
� �

E =
∑
k,S

(nkS + 1/2) h̄ωS (k) ?B!D@

*� ������� ��������� ��������� �� ������
 ��� ������� �� 	������ ���	�� �� ����

�� ����� ������������� 	�� 
� ����
��� ������
 �� 
� ��������� ��������� �

u =
1

V

∑
i

Eie
−βEi , β = 1/kBT ?B!�@

+� 
��� �� ���� ��� 
� ���� �����
 �� ������� S �� (������ ������ k ��� ����
��� ne

kS ���� �1����$ �� 	��
� �� nkS ���
�
� �� ������� S �� �� (������ ������ �
	������� ���� 
� ������
! *�� 	������ ���� ���� 
�� ������ �� ��	
������� ��������$
	������ �� 
� ������ ��������� �
��������� �� (�������� ��� ������! <���� ���1
	����� �� ������
 3 ���	�������� ��4�������$ 
� ���	
�� ��������� ��� ������ 
�� 	
��
�1����� �� ����������� ��1 ������ �� 	
�� ����� �������$ 
� �����/��� ���	����� ����
/���� ������� �� ����� �� (�������� �� 	��	������$ �����/��� ��������� ��� 
��� 	���
(����
���� ���
����� ����� �� ������� �� 	������!

��� ��� ����
�	�� ����� �� ���
����	 ��  ��
 
� �

���	 �� �����
���	

)���� 	����� � 	��� ��5����/ �� (����
���� 
�� ����� ��4������ �,	�� ������� ����:
����� �� 	��	������ ���� �� ����8
$ �� �� 	�������� ��� ���

�� ���	
�� �� ��:
�������� 	��������� �� ������� 
��� 	��	������� �� �� �������� ��1 ��
������ ��
���	������ � 
�� ����� 
����������
��$ 
�� ����� �� ������� �� 
�� ����� �� I�1���
?8�! B!B@! ���� ������������� 	�� 
� ����� �� ����
� �� W���� E ������	� ���� 
�
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�����S���� 
� ��/�������� �� ������
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ρAdz
∂2U

∂t2
= F (z + dz, t) − F (z, t) ?B!B�@
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U (z, t) = U0expi(qz±ωt+φ) ?B!B�@
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����� �� ���	������ �

ω = (E/ρ)1/2 q = cφq ?B!BC@
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����� �� ���	������ 
�������$ �� 
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	���� cφ ��	��� ��� 	��	������ ���������� �� �������� � 
� ��������� �� W���� ��

� ����� (�
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U (z, t) = U0cos (qz ± ωt + φ) ?B!BE@
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$ �� /��� ��� 
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n (��� h̄ωn!
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�� ��������� ����� ��
$ �� �� ��������� 
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ωn = (μ/ρ)1/2 qn = cφqnπ/L = cφqnπ/L ?B!B�@

#��� 
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������� ������ ��������� λ0 �
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2.82kBT
?B!BG@
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K =
P

ΔT
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��� ����� 
� �������� �� ���	������� ΔT
��� ������
�� ����� 3 �� �		��� �� 	�������� �1�������� P �� 
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φ =
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V

∑
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vxE(k)f(r,p) ?B!B�@
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��� �� �,��
��$ vx 
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��
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����� p$ ������ ���� ���
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φ =
1

V

∫ ∫ ∫
dkvxE(k)f(r,k)(

L3

2π
) ?B!��@
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∂f

∂t
+

dr

dt
.∇f +

dp

dt
.∇f =

(
∂f

∂t

)
coll

?B!�B@
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∂f

∂t

)
coll

= −f − f0

τ
?B!��@

f0 ��� 
� /������� �� ������������ 3 
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����$ �� τ �� ���	� �� ��4����� �������:
��������! <� /������ 
��,	���
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�������� �� /����
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��������� B!�B �� ���	
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f(r, k) = f0 − τ
df

dT
v.∇T ?B!�C@
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U =
∑
k

⎛
⎝1

2
h̄ω(k) +

h̄ω(k)

e
(

h̄ω(k)
kBT

) − 1

⎞
⎠ ?B!�E@
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h̄ω(k)

e
(

h̄ω(k)
kBT

) − 1

dk

(2π)3
=
∫ h̄ω

e
( h̄ω

kBT
) − 1

D(ω)dω ?B!��@
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∫ ∞
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�����! �� /�P�� 	
�� ������
�$ 
�
���

� �� ���,� ����� 3 ����� ���	������� �

Cph =
3

2π2

k4
BT 3

h̄3v3
s

∫ θD/T

0

exx4dx

(ex − 1)2
?B!��@

�M θD ��� 
� ���	������� �� ���,�! )���� 
�� �� T 3 	��� 
� ���
��� �	���8���
3 ����� ���	������� 	��� ��	������ �� 	
�� ���		
����� 	��� ��� �������

��� ��
����� �����������
���$ 
������ 
� 
������� ������ ��������� ��� 	������ ��(����
�� �>�� ����� �� �������� ������ ��������� ��������������� �� 
���5�� ���������!
-� �����(� �
��� ��� 
�� �� T d �M d ��	������� 
� ��������� �� ��� ��5��! �� 	
��$
��� ��
������ �� ���	������ ��� 
��������$ ����� ����� ������������$ ��I���� ��� 
�
���
��� �	���8��� � 	��� ω ∝ kδ$ �� ���� �����(�� �� ���	�������� �� T d/δ �� CV

=������� � 	��� 
�� ������ ���	��������$ 
��������
� ��� 
���	��� ��� k ��(��
����� ���	�� ����� ���	��� 3 ����� /��������$ ����������� �� 
� ��������� �����
��
�� 
� ����
��! -� �� 	��� �� �4�� �1����� ��� ����� ���� 
� 
������� ������ ������
	
�� ������ ��� 
� �������� �������������! )���� 
����� 	����� �� ��8��� �� (������
������ ��1���
 ?(������ ������ �� ���,�@ kmax

D = 2π/λmin
D �M λmin

D ��� 
� ��������
�������������! )� (������ ������ (� ���� 	�������� �� ��8��� 
� ���	������� ��
���,� θD 	�� kBθD = h̄kmax

D !
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)���������� 
� ��� 
� 	
�� ���	
� ���� ��& ���
������� 
����� �� ���� ���� ����
!
<� 	������ �� ���	�� 
� ����������� �� 6����:����� ��� �
�������$ �� 
�� ������
��� 3
��� ����� 	
���� ��������� ��������� E = h̄2k2/2m$ �� �� �� 	
�P��� ��.������� 
���
�� 
� ���	������� �� 6���� ?�� 
������ �� 104U@$ �� ������� ��� ���
��� �	���8���
�
���������� 
������� Ce− �(�� 
� ���	������� �

Ce− =
π2

3
D(EF )k2

BT ?B!C�@

+ ����� ���	�������$ ���� 
�� �����1 �� 
�� ����:����������� ��.�������
��	��$ �� ����� �
���������� 
������� �� 
� ���
��� �	���8��� ������$ �������������
3 ���	������� �������� �M 
� ���
��� �	���8��� 	��������� ������� 
���	����!

����" �� ���	�������� 
� 
� ���	������
 ��
�����
 	
� ����
����

=�	������ 
��������� B!�� �� 	������ ���	�� �� 
��		��1������� �� ���	� ��
��
�1�����$ �(�� D(w) = dk/dw 
� ������� ������ ��� 	������! -� 	��� ��������

��1	������� �� I�1 �� ���
��� 	���� 	�� 
�� 	������ 	�� �
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φ =
∫ ωmax

0
dω

∫ 2π

0
dϕ

∫ π

0
dθvxh̄ω(f0 − τ

df

dT
v.∇T )

D(ω)

4π
?B!CB@

<� ����������� �� ��� ��������������
 ��
�� 
��1� ��� x$ 
� �������� �� T ��(����
���	
����� ∇T = dT/dX! -� ������� �
��� ����������� 
� 
�� �� 6������ �(�� �

φ = −kph
dT

dx
?B!C�@

�M 
� /������ kph ���		�

� 
� ��������(��� ��������� �� ���1	���� ����� �

kph =
∫ ωmax

0
dω

∫ 2π

0
dϕ

∫ π

0
dθsin(θ)cos2(θ)h̄ωτv2

x

df0

dT

D(ω)

4π
?B!CC@

��� 	��� �� �������� �

kph =
1

3
CphvphΛ ?B!CE@

Cph ��� 
� ���
��� �	���8��� �� �������� ��
��
�� 	�����������$ �� Λ = τvph ��:
����� 
� 
���� 	������� ��,�� �
�������! )� 
���� 	������� ��,��$ ���� 
�� ����������
�������������$ (� ��	����� ��� ���������� �� 
��������

��$ �� (� ���� ��I��� ���

� ����������� ���������! +�1 ����

�� �������������$ 
� �����	��� ��� 	������ (�
��	����� �� 
� ��������� ��� �������

��� �� ������ ������� ����� ������ �� ������:
��(��� �������
��� �� ��������$ �
 ���� ���� 	��/����
� �� 	��
�� �� �����������!

����# �� ���	�������� 
� 
� ���	������
 ��
�����
 	
� �
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�����

<� ��	������ 
�� ��
��
� �� 
� ������� B!C!�$ 
� ������ /���������� �� ���������
��� 	������� �������(����� 	�� ���� �� ������������$ �� ���

� ��������� ����� ��
����
��� ����
���� 	��� 
� ��������(��� ��������� ��� �
������� �

ke− =
1

3
Ce−vF �e− ?B!C�@

��� 	��� �� �������� ����� �

ke− =
π2

9
D(EF )vF �e−k2

BT ?B!CF@

���� 
�� �����1$ 
� ������������ ��� �
������� ��� 	��	��������� 3 ����� ���:
	������� ���� 
� �����	��� �� 
� ���
���! +� ���������$ ���� 
�� ����:�����������
�� 
�� ���
����$ ���
� 
�� 	������ ������������� �� �����	��� �� 
��������! ���� 
��
��	������������� ���
�����$ 
� ������������ ��� �
������� ��� ���
�����
�$ �� ��� ���
�O 3 
���(������ �� ��	 �
���������� �� ��(��� �� 6����!
#��� 
�� �����1$ �
 �1���� ��� ��
����� �� 	��	��������
��� ����� 
� �����������

��������� �� 
� ����������� �
��������$ �		�
�� 
�� �� Y��������:6���&$ �� ���
���1	���� ����� �

ke−

σT
=

π2k2
B

3e2
= L0 ?B!CG@
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*� ���.����� L0 ��� 
� ������ �� *�����& �� (��� 2.45.10−8YΩ U−2! )����
��
����� �� (���8� �1	��������
����� ��� �� ��
� �������1 �����1 �� ��� �� ��
�
������� ������ �� ���	�������!
)� ���

� �
������� (� ���� ���(�� 3 ������� ��� ������ 	����� ��� 	�����
���

���������� �����(��!  ��� 	��� ������� 
���	��� ��� ��������� �� �� ���8������
���� 
�� �������������� ��� 
� �����	��� �� 
� ���
���$ �
 (� /�

��� ����� ���	��
��� ���������� ���������������� ��� ��������� 
�� 	������ 	��� ���	������ ��������
�4��� �������	�����!
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 	�'���( � 
� 	������������
	
 
��������� 	
 )����
�

���� 
� 
����� ��4���(� �� �����	��� �� 
� ���
��� ���� 
� ����
��$ ����� 
�� ��
6������ 	��� �� ������(�� ������ 	
�� ��	������� K��L! <� ������ 	���� r �� ��
���$

� ������������ 
���
� �� ������ �� 	������ 	��� >��� ������ 	�� 
� ���	�������

���
� ���� ��8��� T (r)$ ������	������ 3 ��� ������� ��,���� �� 	����� E (T )! Q�
	����� ���
������ (�,������ 3 
� (������ v �����	���� ����� �������$ �� ����� �

�� ��4��� 3 ���(��� 
� ��
���$ ��� ������� ��,���� ������ 	��� ��������� 
�����
����
��������� 
���
! +����$ 
�������� 
���
� ����� ���������$ ∂E/∂t = 0$ �� 
� ����(��
�
���
� (���8� 
� ��
����� �

dE

dt
= v.∇E = v.∇T

∂E

∂T
?B!CD@

*� ����(�� �� E �� /������� �� 
� ���	������� ��� 
� ���
��� �	���8��� 	��
	�����$ ���� cV / 〈n〉$ �M cV ��� 
� ���
��� �	���8��� �� ������
 �� 〈n〉 
� ������
��,�� �� 	������! *�������� ��,���� ΔE �����	����� ��� 
� 
������� �� ��4�����
Λ ������	��� 3 �� ���1 ��
��	
�� 	�� 
� ���	� ��,�� ����� ���1 ����� ��4���/�$ Λ/c!
*� ������� ��������� ��,�� ������	������ 	�� 	�����$ 〈jU〉$ ��� ����� 	�� �

〈jU〉 = 〈vΔE〉 =

〈
vv.∇T

cV

〈n〉
Λ

c̄

〉
=

1

3

cV

〈n〉 c̄Λ∇T ?B!C�@

�M 
� ��,���� �� ����� vv (��� c2/3 ��� ��
��	
�� 
� ������� �������� ������� C!
*� ������� �� ������� ��������� ����
� ��� 
�������� ��,���� �����	����� 	�� �����
�� ������� �� ��
��� ���������$ ���
� �� ������� 	�� 	����� ��
��	
�� 	�� 
� �������
��,���� �� ������ �� 	����� 〈n〉! ���M �� ������� 8��
����� ���� ����� 
�����
��4���(� �

JU =
1

3
cV c̄Λ∇T = k∇T ?B!E�@

�M 
��� ��8��� 
� ��������(��� ��������� k = (1/3) cV cΛ! #��� �� 8
 �� 
�������
L �� �� ������� A$ ���� ��8������� �� ���(��� 
� (�
��� 	��������� �� 
� �����������
��������� Kth = kA/L!
�� ����� �������������$ ���� ���
����� ��� 
��������� �� 6������ ��� ���	���

�� ������ ��4���/ �� �����	��� �� ���
���$ �� ��� ��� 	���

��� ���(�������� 	���

��		
����� 
������ 
� �����	��� ���� 	
�� ��
�������!



�,

��% ����� �� ��	&	���	� ��
  � �
�	���
� ���
��#��

#��� ��� �������

��� �������������$ 
������ 
�� ���������� ���������������� �(��:
������ �� ��(������� ��/�������� 3 
� 
������� ������ ��������� ��� 	������$ ��
	��/����� 	������������ �� �����	��� ��������� �		��������� 	�� ��		��� �� ���

�
�������� ���	�� 3 
�����

� ��������	����!
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<� B�CD$ )������ 	��	��� �� ���

� �� �����	��� �� 
� ���
��� ��� ���		
����
���� ��������� ���������� ��1 �������������� 3 ����� ���	������� KBFL! 2
 ������
��
�� ��5�� ���� �� ����� ��� ��������� ��� ��/������� �� 
���� 	������� ��,�� ��� 	��:
����! �� 	
��$ 
� ���/��� ��� ��		���� ��8������ ��4���(�$ �

� ������� 
�� 	������
��� 
����������� �� �� ������ ���� ������ 
�� ���������� 3 �� ���	������� �4����(� �
����� �� ���	� ���� �� 	������! *� 
���� 	������� ��,�� �� )������$ ΛCas$ (� >���
81� 	�� 
�� ���������� �������� �� 
��������

��$ �� ���� 
�������� ��/������ �� 
����
	������� ��,�� �� �������� �����/! )������ (� ���������� ���� 
��������� B!CE �����
���(�

� (�
��� 3 
���������! #��� �� ���������� �,
��������$ "����� �� ��

! ���
�������� ��� 
� ����������� ��������� ��� ������ 	�� KFL �

K(T ) = 3.2 × 103

(
2π2k4

B

5h̄3v3
s

)(2/3)
SΛCas

L
T 3 ?B!EB@

vs ��� 
� (������ ��� 	������$ S �� L 
� ���/��� �� 
� 
������� �� ����8
$ ��
λCas = 1.12d 	��� �� ����8
 �� ������� ����� �� �9�� d! )� ���

� /��������� ����
��� ��� �������� ����� �� ���	�������$ ���� ��� ���������� ���	
��$ ���� ��� 
�
����8
 �� ���	���� ������ ����� �� ���������� ��������� C�$ �� ���� ��� 
� 
����
	������� ��,�� �� �������� �����/ ����� 
�������� ��	������ ��1 ���������� ��

��������

��!
���� (������ 	�� 
� ����� 
�� ��� �M �� ���������� 	
�� �
����� ����	���$ 
������


�� ����� 3 
� ���/��� ��(������� ��
��������$ �� ������ 
������ 
� ������������ ���
	������ ����� 
� ����8
 �� 
�� �����(���� ����� 	
�� 	��/����!

��"�� �� 
����
 *�
������
 
� 
����������� 	� �����
 ��������


*�� ���	�������� ����������� ��� ���� ��.������� ������ 	��� ��� 
� 
�������
������ ��������� ��� 	������ ���� 	
�� ������ ��� 
� ������� �� 8
! Q� ����������
	������� ��������� �� �� ������� �� ���	������� ��� ���������� 	��� �1	
����� 
��
	�����
��� �����(��! *� ����8
 �� ���	���� �
��� ����� �� ����
 �� �����	���
B�! )���������� �� 	��� ?����� ����8
@$ ��
���� ���1 �����(���� B �� �$ 
� 	������ 3 
�
���	������� T + δT $ �� 
� ������ 3 
� ���	������� T $ �(�� 
��,	���
�� �� ��������
�����1! *�� 	������ ����� �� �����(��� B �

��� (��� 
� �����(��� � ��������� 3 
�
������������ �� "���:<������� 3 
� ���	������� T + δT $ �� ��(�������� 
�� 	������
	������ �� �����(��� � ���� 3 
� ���	������� T !
#�� �� ������������ ����
���� 3 ��
�� ���
��� 	��� 
��������� B!B� K�$ G$ ��$ F�L$ 
�

I�1 ��������� �����
��� ����� 
� �����(��� B �� 
� �����(��� � (��� �



�0

H(+) =
1

2π

∑
m

∫ 0

∞
dkvgm (k) h̄ωm (k) nωm(k) ?B!E�@

�M m ��	������� �� ���� �� (��������$ k 
� (������ ������ 
� 
��� �� 	���$ n

� /������� �� ������������ �� "���:<������� 3 
� ���	������� T + δT $ �� vgm =
dωm (k) /dk 
� (������ �� ����	�! <� 	������ ����� �������
� �� �������
� ��� 
��
/���������$ ���� �������� �

H(+) =
1

2π

∑
m

∫ ωm

∞
dwh̄ωm (k)nωm(k) ?B!EC@

ωm ��� 
� 	
�� ����� /�������� 3 	����� �� 
����

� 
� ���� m �� 	��	���! #���
�(��� 
� ����������� ����
�$ �
 /��� ���������� �� �� I�1 ��������� 
� I�1 �		���
�

��� �� � (��� B$ ���M �

K = limδT→0
H(+) (T + δ T ) − H(−) (T )

δ(T )
?B!EE@

<� �������������� 
� (�����
� x = h̄ω/kBT $ �� ������� 8��
����� 
� ��
����� �

K =
k2

BT

h

∑
m

∫ ∞

xm

x2ex

(ex − 1)2dx ?B!E�@

+ ��
� ����� ���	�������$ 
�� ����� �,��� ��� /�������� �� ���	��� ������
�
������ �1	�������

����� 	�� 	��	
��! *��1	������� �� 
� ����������� �� ���	
�8�
�
��� �� ��� (�
��� ���(����

� �

K = Na
π2k2

BT

3h
?B!EF@

���� ��8������� ����� 
� ������� �� ����������� 	�� 
� (�
��� K0 =
π2k2

BT

3h
!

)�� ����� �� (�������� 	��(��� >��� ���������� ����� ��� �����1 �� �����������
��������� �� ���� �����
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����������
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�� ��� 	��	������
	�,������ �� �������� ���������$ �� �� �� ���

� �� �� �� ���������! <����� 	
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���	������ � �� 
��� 	���� �� ����
 B� �
����������$ 
� ����������� �
�������� ���
��8��� 	�� �� ������ 8�� �� ������ �� ����������� �
�������� e2/h! <� ���
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)� ������ � ��� ������ �1	��������
����� 	��� 
� 	����
�� /��� 	�� 
�����	� ��
 !* =��7�� �� ���B KDB$D�L!  ��� �
� ����� 5����� ��	������ 
��� ������$ �� ��������
��	���� �� 
��� ������� ���� ��5��� 3 �������$ ����� 
� ������������ ��� ����(��� ��
������� ��	�������������� �� �����	��� �� 
� ���
��� ��� ����� 	�� 	���� �� ���	��!
 ������ �� ������ 	�� ��� ����� �������$ �� ������� ��� ����
���� ��	��������
��
�� 8��
�� ���� ��� ��5����/� 	�����������! #��� 	��(��� ���	���� 
� ���	��������
��������� �����(� ��� ����8
� �(�� �� ������ ���������$ ���� �

��� 	�� 
� �����
�����
���� ��� ������� �� 
� ����������� ��������� ��� ����8
� 	�� D ������ ��
�����������!

��"� �
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��� 	
 ������������ 	
� �������

���� 
� ������ ��
������� ����
$ 
� 
���� 	������� ��,�� ��� 	������ ��� ���������
����� ��8��$ �� 
��� ������������ ����� 
� ����8
 �� 
�� �����(���� ����� 	��/����!
+����� ���������� ���� �� ���

� �� (���� 
������ �� ������� �	����
 ���������!
)�	������$ ��4������ 	�������� 	��(��� �����/���� ��� 
� ��	
������� ��� 	������$
����� 
�� ��/���� ��� 
�� 	����� ��� 	��(��� 	��(����� ��� ����� ��4���/�$ �� ������

� 	������� ����	������ ��4��������� �� ���� �� ������
! <� ���(��� ��� �		�����
��������� 3 *������� ���� ��� ���������� �� 
� ����������� ��������� ��� �
�������
KGCL$ ���� �

��� ���������� �� ���.����� �� ������������ 	��� ������8�� 
�� ������
3 �� ���	
��� 	��/���$ �� �������� 
� ��
����� �S�� �� )�
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∑
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tm ��� 
� ���.����� �� ������������ ��� 	������ �� ���� m 3 
� /�������� ω
����� 
� ����8
 �� 
�� �����(����! )���� ���������� �� 
� ����������� ��������� 	��:
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(���� ���� �� ��4������ 	��������! <

� 	��� >��� ������� 	�� 
� ��4������ �� �������
������ ��� 	������ ����� 
� ����8
 �� 
�� �����(����$ �� ������ 	�� 
�� ����� ��4���/�
3 
� ���/���! *�������
� ��� 	�����
��� 	������������ 	��(��� >��� ���
�� ���� ��
���.����� �� ������������ ����
$ 	��������� �� ������� 
� ���������� �� ������ ��
��:
����� ��������� �� ������ ��4���/ �� )������! ����� 
� ��.��
�� ������ ����������
���� 
����������� �� ��� ���.������ tm!
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+�1 ������ ���	��������$ 
� 	���� �� ���	�� ��� 5�������� ����	��� ����8
Z�����(���
��	
���� ������������� ��� ���������� �� 	
������� ������ �� �������� �� �����/���
��������� K�$ BG$ ��$ ��$ �D$ GB$ GE$ DDL!

#��� ��� ����8
� �� B� �����
���� �� ����
���$ �� ������� �� B� U$ 
�� ��
:
��
� 
������� 	������� ��� ���������� ��������� �������/��� �� ���1 3 ����� ������ ��
�������� ��	������� 3 
� ���������� �� ����8
 
��:�>�� KBGL! ;�����
�����$ 
� ������
	�,����� �(����� ��� 
���	��� �� 
� ��4������ �� ������� ������� ����� 
� 8
 B� �� 
�
�����(��� �� �� C� ��
�� 
�� ����������! *�� 	������ ����� ���� 
� �������������
����� 	�� 
���� ����(�
���� ���� 
�� �����(����$ �� ���� ��I����� 3 
������/���! ����

� 
����� ��4���(� �� ������� ��� ����������$ 
� ����������� ��������� �� 
������/���
����8
Z�����(��� ��� ����������� 	��	��������

� 3 
� ���
��� �	���8��� �� �����(���
C�$ ��� ���� ��� 
�� �� T 3!

)���� �� *�/����& K��L$ ���� 
��� ���

� ���
���� �
������� �� �����	��� ��� 	��:
���� 3 ����� ���	�������$ �� 	������ �� 
��������� �� )�

�R�,$ ��� ��
��
� 
��
���.������ �� ������������ �� ������ ��� ������ ����� /����������1 �� 	��	�:
������ 	������� ���� ��� ����8
�! 2
� �� ��� ������ 
�� ��4������� ��	�������� ��
���.����� �� ������������ �� ������ �� ��� ����� �� /������� �� 
� /��������$ ��
��� ����� ��������� �� 
� ����������� ����
� 	�� ��		��� �� ��� �� ������������
����
�!

����
��  ���� K�DL$ �� ���
����� 
�������
� ��� ��
������ �� ���	������ ��� 	��:
����$ ��
��
� 
� ����������� ��������� �� ����8
� �� ����
��� ���	��� ����� ��
�� �� BE� ��$ �� 	��(���� ���� �5�������� 3 ������(�� 
�� (�
���� �1	��������
��!
2
 ��������� ���
����� �� ���.����� �� ������������ ���� 
� /����
� �� )�

�R�,
	��� ��� 8
� 3 
� ���/��� �� ��1 �����/���� ����8
�Z�����(���� ��4���/� ?�� ���

�
����� ���	�� 	��� ��� ���	�������� �� 
������ �� ���
���� ��&����� �� U�
(��$ 
��
��I�1���� ��
�������� �� ���/��� �� ���� 	�� 	����� �� ���	��@ �
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b
������	��� 3 
� ��,���� �� 
���(���� �� ����� ��� (������� �� ����	� ���

��4������ ����� ����/� �� 	������! 2
 /��� ��	������ �5����� 
� /�������� �� ���	���
	��� ����
�� ������������� 	��/�������� 
�� �������!
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� �������

�� ������ ��� 
�� 
�������� ���������������� ��� 	������ ���������� 
�� �����:
����� ��� ����8
�$ 
���	��� �� 
� ��������� �� ��� ���������� ��� 
� (�
��� �� 
�
����������� ��������� ���� ����������! *� 	������� �� ������ �� ���� �� ����8

��	>��� 
�� 	������ �� 	����� ?���	���� E@$ ��� ���������� 	���������� 	�����������
��� 	�����
��� �� ��������� 
������ 
��� 	������ ���� ���
� 3 
� 
������� ������
��� 	������!!!
*� ������� �!C!C 	������� ��4������� ���������� �� 
���� �4��� �������	����� ����:

������ ��1���
� ���� ���� ������ ���������� �� ���� ���� �(��� /������� ��� �����:
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���!
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� ���
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���� 
�� ����8
� �� 
�� ���������� ��$ 
� ����� ���/��� ��� (�
��� ����� ����
��	������ 3 ��
�� �� �����/$ 
�� ������������ �(�� 
� ���/��� 5����� �� �9
� ��	��:
����! #�����	�
����� 3 ����� ���	�������$ �M 
�� 	�������� ���
�������� ���������:
����� 	�����:	����� ���� 
� ����
�� ���� ���
�����
��$ 
� �9
� ��� ����� ��4���/�
�� ���/��� ��(���� 	��	��������! *� ������ �� )������ ���1	
���� ����� ����� 	��

�� ����� ���
�������� ��� 	������ �� ��(��� ��� ��������� �� ���/���! + 	
�� �����
���	�������$ 
������ 
� 
������� ������ ��������� ��� 	������ ��(���� �� �>��
����� �� �������� ��� 
� ���

� ��� ���������$ �
 �		����� ��� ����� �
�������� ��1
	����� ��� ����8
�$ 
� 	����� ��������� ��� ���	
� ��I�1��� ���� ��	������! *�
�����	��� ��� 	������ ���� �
��� (��� �� ������ ��
�������! ���� �

��� ���� �(���
��� ���������� ����� ��� ���1 �������! ���� 
� ���

� �� )�

�R�,$ �� ������ ����

�� ��
�������$ �M 
�� 	������ �����	���������� ���� ������
� 
�������� 
� 
��� �� ����:
8
$ 
��		������� ��� ����� ��4���/� �� 
� ���������� (��� 
� ������ �� )������ �����
���
�� ���� �� ���.����� �� ������������$ ��������� ��� ���������� �� 
� �����������
��������� KGGVD�L!
+ 
� 8� �� �� ���	���� 8������ ��4������ ���(��1 ������� �������� 
��4�� ���

��������� ��� 
� �����	��� ��� 	������! 2
� �������� ����� ���	��������� ���
�����(�$
���� ������ ����� ���	

�� �� ����������(� �� ������ ���

����� �� ����� ����������
��
�������:��4���/! ���� �������$ ���	���� C$ ��� ������	���� �����

�� �� ����������(�
�� ����� ����������$ �� ��� ����
���� ��5���� �� ����� ��
��!

��' ��� �
���(
�� ����
�� �� �
�	���
� �� ���	�	�
��	� ��� 	�	���
����
��

�� 
� ������� ������ ��� 
� �����	��� ��� 	������ ���� ��� ���������� B�$ ��
�
	�� ���1	�������� ����
������ ��� ��� ������ 3 �� 5���$ �� ����� 	�����	�
����� �O
��1 ��.��
��� �1	��������
��! *� ������ �� �����	��� �� 
� ���
��� ��� �� �4�� ��
	���

�� ��
����$ �1��>������ ��.��
� 3 ���
����! ��	��� B��F ��	������$ ���������
����	�� ��� ������ �1	��������
����� ��� ����
���� ������������ ��� ��� �������

���
�������	�����$ ��� ��� 	����� �� ����1 ���	������ 
� �����/��� �� 
� ���
��� ��1
	������ ����

��$ �� �� ���
�(�� 
�� 	�����	�
�� 	���
��������� � ��	��� �� 
� ��������$
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� ������������ ��� 	������ ����� 
�� ����8
� �� 
�� �����(���� ����������!!!

��#�� �� ���	������ ��
�����
 ��. *���
� �
��������
� 	���
������
 ����!��

 	
 ������

<� B�CD$ )������ ��(�
�		� �� ������� �� �����	��� �� 
� ���
��� ��1 ������
���	�������� ���� ��� �������1 	��/����! *������ 
� 
���� 	������� ��,�� ��� 	������
��(���� �� 
������ �� ����
��� ��� �������

���$ �� ����������� ��� ����� ��4���/� ���
	������ 3 
� ���/���$ )������ 	����� �� ������ �� �3 �� 
� ����������� ���������
KBFL!
�
� B���$ =! "�����$ <!*! 6����� �� 0! ! H����$ ��� ������ 
�� 	��	������ ��

�����	��� ��������� �� �������1 �� ��	��� �� F �� �� 
��� 	��� �� ����
��� �� �
�� ��(���� KFL!
*� �������� �� 
���� �������

��� (���� ���� �	������ 3 
������! #��� ��� ���	�:

������� ��/�������� 3 B�U$ �
� ������(��� 
� ���	�������� ������� ������� �� ���	�:
������ �� 
� ����������� ���������$ �� 
���� ����������� ���������� ������	������
3 ���
���� 	���:���� 	�
�! + ��� ���	��������$ 
� 
���� 	������� ��,�� ��� 	������
��(���� �� �>�� ����� �� �������� �� ����
��� ��� �������1$ ������� �� (�
�����
�� ������ �� )������!
#��� 
�� 	
�� ������ ���	��������$ ���� �U$ 
� ����������� ��������� ��(��

�� ������ �� )������$ 	�����	�
����� 	��� 
�� �������

��� 
�� ����� ������1! 2
�
��	����� ���
�����(����� �� 	�����
�� 3 
� 	������� �� ����� �	���
����� 
������

�� 	������ ���������� 
� ���/���$ �����S���� ��� ������������ �� 
����:	�������
��,�� ��� 	������!
)� ���

� 	����� �� ������� �
���
����� 
�� ������� �� �����	��� �� 
� ���
���

��1 ������ ���	�������� 3 
�����

� ��������	����!  ��� ��� �� 	����:�:�
 	��� ���
�������

��� �� 	
�� 	����� ���

� [ *� ������
���� �� 
��	���� �� 	��������� 	�� ��
������ 
�����

� ������������!

��#�� �
� �
���
� 	��
��
� 	
 
� ���	������
 ��
�����
 	

������������
� ����������

��
� ����
�	�
�

�
� 
� 8� ��� ������ ��$ 
�����	� ��  �7��
 =��7�� �� )�
�/����� 2�������� �/
������
��, �
����� ��� ���	�����/� ���	����� 	��������� ��� ������ ������� �� 
�
����������� ��������� �� �������������� ����������
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� ��������(��� ��������� ��
��
����� �������������! #��� ������� ��� ����
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� ��������$ 
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��� �� ����� 
�� ��4������ ���(��1
�������$ 	��� 
�� ��
� ������ ���	��������$ 
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� ��������! #��� ���
������� �� ������� ��	��������������$ �� 
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 ����
� ������
 �� 	��8
�� 
�� ����8
�
	��� ��������� �� /�P�� �������� ����� ������� ������� 3 
������! )�	������$ ����
	��(��� ������ �� 
� 	��������� �� ��� �������� 	��� �������� ����� �� (���������
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�! ���R�� �� =��7�� KDBL ��� ����� �����

��� ��	����� ���� 
��� �1	������� �� ������ �� ������� �� �����������$ �� ���
	��� �1	
����� 
� ����� (�
��� �� 
� ����������� ��������� ������ �� B U!
<� 	������ �� 8
 �� ������� ��������
����$ 	��� ��� ������� A (x) = hl (x)$ h

����� 
��	������� �� l 
� 
������ �� 
� �������$ 
� 	��8
 ������]��
 (���8� 
��������� �

l (x) = hcosh2 (x/L) ?�!B�@

�M L ������� ��� 
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������� �� ����8
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� ������� 	��� >��� ���������� �����
���/����!
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������ �!BG V "�	��� !#@ �� �	����� ������� �
��� �������� ���	�� �� + μ�� �	��
���� �	�
��� ��
�� � E7ELM7@ )����� �
�������� ��� ���	��
����� ��������� �	�� ����� ����
��

�� ������ ���(�,�� (��� 
��� ��������� �� ��	���! *�� 	������ ����� (������ 
��� �����:
������� /�������� �����S��� �� ���� �� ����8
� 	��������� ��� ��������$ �����S����
��� ��������� ��	������� �� 
� ����������� ��������� K�GL! #��� ��� ���	��������
��/�������� 3 EU$ �M 
� ���������� (��� 
� ������ ��
������� �		���S�$ ��� �4�� ����
��(���� ���������� �� �������
�! + ��� ���	��������$ 
� 
����:	������� ��,�� ���
�
������� ����� ���
�����
� /��� ��1 ���������� ���������������� �� ����8
! �
� 
���$

�� 	��	������ �
��������� �� �������
��� �� ������ 	�� �4������ 	�� ��� ������
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_��
���� ���(��1 ���������� �������� �� �����	��� ��� 	������ ���� ��� ����:
���1 �����:B� ��1 �������� ���������� 	������������� K�E$ �CL! )
�
��� �	 ��� ���
������ 
� 	��	������� �� ���� ���������� 
����������
 ���� ��� ����8
� 3 
� ���:
/��� 	��8
�� ������]��
�����! *� 	������� �� ��� ����

������ �����S���� 
� /��������
���� ��	 ���� 
� ��
����� �� ���	������ ��� 	������$ ������ ������ ����� /��������
�� ��������� ω0! #��� ��� 	������ �� ����
����� ���
� 3 2π/G$ ω0 = clG/2$ �M
cl ��� 
� (������ �� 	��	������� �� ���� 
����������
 �� ���� �� ��������$ (�
���
���	���� ����� C��� �� F��� �Z� 	��� 
� ��
�����! *� ���	������� ������	�������
��� T0 = h̄ω0/kB! *�������� �� 	������ 3 ����� /�������� (� 	��(����� ��� �����
��	������� �� 
� ����������� ��������� 3 ����� ���	�������! + 	
�� ����� ���	�:
������$ 
� ����8
 ������(� 
�� 	��	������ ����� ��������� B� ����
�$ �� 
� �����������
��������� ���� (��� 
� ������ ���������!
*���	
����� �����
���� ��� ����

������ ε$ ��8��� 	�� 
� ��		��� d/l$ d �����


���	
����� 	��	�� ��� ����

������ �� l 
� 
������ �� ����8
$ (� ���������� 
� �����
�� 	����������� �� 
� 	��	������� �� ���� 
����������
 ?
� ����� 	
�� �� �����
��	������� �� 
� ����������� ���������@$ �� 
� 
������ �� 
� ����� �� ���	��� Δω
?����� 3 ���� 
� 	
��� �� ���	������� ���� 
����

� 
��4�� ���� �	�����@$ ������ 	��

� ��
����� Δω/ω0 = ε!
#��� �� 8
 ����� 	������ �� B�� ��$ 
� ����� �� 
� ����������� ��������� ��(����

>��� ������� ����� �!G U �� B!E U! �� �>��$ 	��� ��� 	������ �� ��� ��$ ��� �4��
�		���S��� ����� �!C� �� �!GU! + 
���(����$ ������� ����� ���	������� ���������������
	���������� ��������� 	
�� 	���������� 
� (������ �� ��� �� ���� �� ��� ����8
�!
*�� ������ ����� ������

������ ?�� ������� �� �� I�1���@ ���(��� �(��� ��� ���:

	��������� ����
����� ���	�
� 
�� �������$ ���� ����
� ������� /��� 
�� ��
��
� ��������1
��� 	��� 
� ���� 
����������
! *��� ���

� �� 	���� 	�� �� ���	�� 
� ����������
��������� �������/��� ����� 
� ����8
 �� 
�� �����(����$ ��� 	��� ��(���� ���������
��1 ������ ���	��������! +����$ 
� ��������� �� ����������� ��������� �� 
���(��:
���� ���� ��	 ���� 
� ������� ������ ��� 	������ ������ ��>��� �� 	����� ������� ���

�		���S� 3 ���	 ����� ���	�������$ 
� �����	��� ����� ������ 3 �� ������ 
3 	�� 
�
������������ ��� �������� ����������!
#
�� 
� 	������ ������

����� ��� ������$ 	
�� 
� ���	������� 3 
����

� 
� 	��:

���
�� 	��� >��� �����(� ��� �
�(��!  �
������������ 3 	
�� ����� ���	�������$

���	
����� �� 	�����
�� ��� 
�������� �������! -�$ ��� ���	������� ��	�������
3 �U ������ /�(����
�$ ����� ������� �� ������ �� 
� ����������� ��������� �����
	
�������� ���	��� 3 	����� �� ����� ���	������� ���� ���� ��	
���� 
� /����������
�� ��������� �� 
� ���

� �� C��� �� ��� ��� ��
����! *�� 8
� 
�� 	
�� 8�� ��� ����
�(��� 	� /�������� ���� 
����� �� G� ��$ ��� 	������� ��/�������� ����� ��.��
�����
���
����
�� �� /��� �� 
� ����
����� ��  <" �� ��� �4��� �� 	��1����� 
��� �� 
�����:

�����! )�
� ����� ��
���(����� 
���� ���� ���� 	����� ����(������ ����� �>�� ���
������� ����������!
��� 	����
��� ������� �� ����8
� ������]���1 /�������� 	�� 
� *<�2 ��� ��� 	��

����
������$ ������ ����� �� 
� ����������� ��������� ���,��� ��� ������� ���� 
�
	
��� �� ���	������� ������ ?�� C�� �U 3 CU@! *� 	������ ��� ����

������ �����
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������ �!B� V "�	�� !#@ �� �	����� ������� �� ����	�� 	��� �
=������� �����	�
���� #�
�	�� ���
��� �� -'' ��� 	� ������ 2.' ��� �� �� �	� � ���
�� Q. ���

�� B�� ��$ T0 ≈ 1U$ ���� 
��� ��	
����� ��� ��
� /���
�$ ε ����� �� 
������ �� BZ��!
*� ������� �� )
�
��� ������ �
� 
��� 
� ����� ��
���(� �� 
� ����������� 
��������
��/������� 3 �%!
Q�� ��� ����(������ �� �����/���������� �� ����� ��
�� ����� 5�������� �� ���
����

��� ����8
� ���	����� 3 
� ���/��� 	��8
�� 	�������������$ ���� �(�� �� /�����
��	
������$ �� /�P�� 3 	��(��� ������� 
� ������ �M ��� ����� �� 
������ �� ��%
��� ������� ������������� ?ε = 0.5@!
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� (������ 	��(��� >��� /��������� �� ��� ������ 
� ������ I�1�:
��
��� �� �� �,	� �� /����������! ���� �(��� 	� ����� /�������� ��� ��������
�� ���:
	������! <

�� 	��������� >��� ���
����� 	��� 
� ���	������ ��������� ���� �_Q2�
?��	������������ _������ 2����/������ ��(���@$ ��
� ��(������ 
� ����	 �� ���:
(�

�� ���������� �� ��������� ���������! 2
 ���� ����� 	�����
� ��������� 
�� �4���
�������	����� ������� 	�� ����� ��������� � �� �����/����
��� 3 	������! *������

� 
������� ������ ��������� ��� 	������ ��� �� �>�� ����� �� �������� ��� 
�
	����
��� �� 
� ����
� �� ��,�� r$ ���
� 3 2πLa �(�� La! #�� ���������� ���� ��(����
	��(��� >��� �

����� 	�� ��� ������� �� ����������� ��������� �� /������� �� 
�
���	�������! <� �4�� ��� ����������� �������/������� ����������(�� �� ���������(��
��(���� �4����� 
� �����	��� �� 	����� 3 ���(��� �� �,	� �� ���������! �����/���$
��� 	�����
��� �		���S����� 3 �� ������� 
�������� ������ �� ��(���� ���� >���
������� 3 ��
� ������ ���	��������!
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������ �!�B V )	0 $������	��� �����
���
�� ���� ����
���
�	� �
�� ��
��	� ������
���
�� ��
�� �� ��	���� �� �������	��� �� ����3
�
�� �� �	 ������	���� ����	�
��� � �	 ���3
������ ω0 �� �	�� 8	 �
��� ���
�� ���������� �
�� �	���� ���
� �	�� �����	�
��� �� ��� �
����
�� ��
��
����� � ��� �	����� �� ���� �� ����
������� )Δω/ω0 G'�-� '�&� '�+ �� 20 ,-&/� )�0
$������	��� �����
��� ���	�� 
����	�� �
��3
������ ��� ����� �� ��������
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	� ��� ���� �
���	��
����
�� �	�� � �	����� �� �� .'' �� ���� ����
 �� �	�� � ���
��

�� �� ��
��������
 ��������
 
� ����'��
 	
 
��������

��

*�� ������� �� ����������� ��������� 	�� 
� ������� Cω ����������� ��� 
��
����8
� ������ ���1��

���� �������
���� �������/�! *� ��
����� ����� ��������� �����
���
��� �
�������� 	��� ��� ���	�������� �� ���(��
 ?T ≤ 10U@$ �
 ��� ���������� ��
��	���� ��� 8�� ������ ���� �������� �������������� �� ���/��� �8� ��������� 
��
	��	������ �1�����! *� ���� �� 	
��� �� 
� ������� Cω ��������� �� /���� �����
��
�� ������� �
�������/ �� /�P�� 3 ����4�� 
� ������������� ���	�����$ �� 	
�� �
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/��� ��� 
� ����8
 ��� ��� /���� (�������� �� �� ���������� �
�������� �� /�������
�� 
� ���	������� ?	��� �(��� �� ���.����� �� ���	������� α �����8����/ ?(��� ��:
�������@@! )�	������$ 
� ���������� �� ���� 	�� ��	����� 
������ ��  Ω 	��� ���
������� �� 
��������� �� ����� �� �,�����! *� ��
�������� ��� (��������� �� ����������
�� ���	������� �� �� �������
��� ���� 	�������� �� �������� 3 
� ���	������� ��

��������

��!
���� 
�� ������� �� 	��	������ ����������$ 
� �������
��� ��� �� �
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-� � ���� �� 	��8
 	�����
���� �� 
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��� �����

�� 
�� 	���

��� ��� 	��(���
���(����$ �� 
�� 
������ ��	����� 	�� 
� ������� Cω KC�L!

-���� ����
 /��

� �� �����
 ��.����$ ��������� ���5���� ���
����
� �� ���	���� 
��
	��	������ �� 
��
����� ��������������$ 
� 
����� 	�����	�
� �� ����� ������� ������
���� 
� ��������� �� ��8��� 
� ���	������� 
���
����� �� ���� 	���� �� ����8
! <�
�4��$ 
��������� �� 6������ �� �����	��� �� 
� ���
��� ��� 3 
� ���� �� 
� ��
����� ���

�� 
� ������� V3ω 3 
� ����������� ��������� �� 
��������

��! <� 	��� >��� �		
�����$
�

� ��������� �� ��8��� 
� ���	������� �� ���� 	���� �� 
��������

��!

-�$ 
������ 
� �����	��� ��(���� ��
�������$ ����� ������ �� ���	������� 
���
�
���	���S�! #��� 
�� ��
� ������ ���	��������$ 
� 
���� 	������� ��,�� ��� 	������
�1�
�� 
�������� 
� 
������� �� ����8
$ ��
�� �� ����� ���� 	
�� ������
���$ �� 
�
��
����� �� 6������ �� ������ 	
�� ���(����
����� 
� �����	��� �� 
� ���
��� KCBL!
*� ���	������� �� ����8
 , ��� ������������� ���/����! 2
 /����� ���� ���
����
��� ����� ������� 	��� ������� 
� ������ ��
�������$ ��

� ����� ��� 
�� ��	�����
���	����� 	�� ��� ����	���� ������� 	�� 
������ 	�� ����� ���������!

#���:�� ���������� ��� ���	������� 3 	����� �� 
����

� 
� ������� 3ω ��(���:
����� ������� [ ���� �(��� 	� ������� 
��(�
����� �� 
���� 	������� ��,�� ��� 	��:
���� �� /������� �� 
� ���	�������! *������ ��
��:�� �1�
�� 
� μ� ?3 ��� �U@$ ����
	��(��� ��53 ���������� ��� 
� 8
 ����� 	�� ���

����� ������
��� �� ������ 	����$
�� ���� 
�� ����
���� 	��� 
�� ���	�������� ��/�������� ���� ��5��� 3 �������! ����
��(�������� ��� ����� 	���
�������� �� 	������� ���	���� �(�� 
������ ��� ����8
�
������!

#�����	�
����� 3 ����� ���	�������$ 
�� �
������� �� 
� ������ �� �������
���
	��(��� �� �����	
�� ��� 	������ �� ����8
 �� ��
�����! *� 	�������� �� ����4���
��� �		����� ��1 �
�������$ 	�� ���������� ���
 �1���� ��� ���������� ��������� �����

� ���� ���
������� �� 
� ���� �� 	�����$ �
� �� ������ 	�� �1�������� 3 
� �>�� ���:
	�������! *� ������ �������(� �� �������
��� 	����� �� �������� 3 
� ���	�������
�
���������� ����������! )���� ��4������ �� ���	������� ����� 3 
� 
�� ���(���� �



)�

������ �!�� V �������	�� �� �	 ������	���� ��������
��� �� �� �	 ������	���� ������
��� ��
�����
�� �� ����	�� 	���
��� ���� �� �	���� ���
� �� 2' μ� �� ���� �� �
��� ����
�� �� -''×2''
��2�

T 5
e− − T 5

ph =
Pe−

V × ge−/ph

?�!BD@

�M V ��� 
� ������� �
�������� ��1 ������ �� ����8
$ Pe− = RI2 = V 2/R 
� 	���:
����� �����	�� 	�� �4�� 0��
� ���� 
� �������
��� �� ge−/ph 
� ��������� �� ���	
���
�
�������:	������ ���
� 3 B���� YZU5��3! #
�� 
��������

�� ���� �������/$ 	
�� ��
�����	
��� ���� 
�����! ��� 
� 8���� �!��$ �		���S� 
� ���	������� �
���������� 	���
��4������ �������� �		
����� �� /������� �� 
� ���	������� ��� 	������ 	��� ��
����8
 ����� �� B� μ� �� 
��� �� ����� ������� �� ���×B�� ��2! #��� �� �������
�� 
������ �� B �+$ ����� ��4������ ����� /���
�! +���� 3 ��� �U$ 
� ��4������ �� ����
��� �� E �U! #�� ������$ �� 
��� �		
���� �� 	
�� /���� ��������$ ����� ��4������
��(���� �1��>������ ��	�������!
#��� 
�� ����8
� �������$ �M ��� ���	� �� ������� ���S� �� �!� �+ 3 � �+ �����

C�� �U �� EU$ �� �����	
��� ���� ���
��� �� (� ��� ��
��
� �4������! �����/��� ����

� ��� �� ��������� �M ��� �������� 	
�� ��	������� ���� ����������� 	��� 
� ������
?	�� �1��	
� ���� 
� ��� �� ������1 �� B� 8
� �M 
� ���������� �
�������� ��� B� /���
	
�� /���
� �� 
�� �������� ���1�������� B� /��� 	
�� ��	�������@ �� �����	
��� ������
�� ��(���� ���������� �� 	����� ��I������ 
�� ����
���� �� ������!
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��	 �����
	 �����	� � ��	 �� 
�

��!�	���

��� �	�
�������	

���� �(��� ���
��� ��� 	����
�� ����� �� ������� �� C�� �U 3 FU �� 
� ������:
����� ��������� �� 	
������� ����8
� ������ ���������� 	�� 
� ������� Cω! 2
 ������
�� 
� ��������� 
� 	
�� �������$ �� ��� ����
���� ���� ���(����� �� ��/������ 	���
������� 
�� ���������� 	
�� �1������� 	��	����� ���� 
� ���	���� �! <������ 	
�������
�������

��� ���������� 	����� �� (���8�� 
� ��	���������
��� ��� �������! )�� ����:
8
� ���� 
���� �� B� μ�$ ����� ������� �� ���×B�� ��2 �� �����(���� �� C� �� ��
��� ?8�! C!B@! *�� ������ �������

��� ��
���������$ 	��(����� �� ��4������ R�/���
�� /�������� 	�� 
� *<�2$ ��� 	���� 
�� ��4������ ����� �� (�
����� �� 
� ������� Cω
?������� �!C!�@!
���� �� ���	����$ ���� �������� ��4������� �����	��������� 	�,������ 	��� �1:

	
����� 
� ���	�������� �� 
� ����������� ��������� �� /������� �� 
� ���	�������
���� ��� �������

��� KCDL! ���� ������(��� 
���	������� ��	���
� �� 
��4�� ��� ����:
�����$ �� ����
����� 
�� ����������� ����� 
�� ��4������ ������� �����(�� �� /�������
��� 
�������� ���������������� ��� ��������� 
� �����	��� �� 
� ���
���! + 
� 8� ��
�� ���	����$ ��� ������� ���� ���	����� �(�� ��

�� �������� �����
������ ��� ���
����8
� ������ �� �>�� �������$ ���� ���������� 3 Dμ�$ �� ��

�� �4������� ���
�:
���� ��� �� ������ �� ��1 ����8
� �� 	���



�! )�� ���	�������� ���� �����������
�������� 	
�� ��� ����� ���1�
�� ����� ���������

��� � ��� ����
������ ���
���� ��

����������$ �� ���(��� 
� 	������
� ������ ���� 
� 	�������� ���	����!

��� +��� ���� ��
  �� 	�	�& � �
���� �� ����

#������ ����
��� ������������$ 
�� ������� �� 
� ����������� ��������� �� /���:
���� �� 
� ���	������� �� ��� ��4������ �������

��� 	��������� ��� �1��

���� ��	��:
�������
��� ?8�! C!�@! ���� 	��(��� (��� ��� 
�� ������� ������� �� ����

� 
�������:
����� �� 
� 8���� C!C$ ����� ������� ��������(�� �M 
� ���	�������� �� 
� �����������
��������� �����
���� 	�� D ������ �� ����������� ������ �� /������� �� 
� ���:
	�������! *� ����������� ����� 3 ��� 
�� ������� �� C�� �U 3 B U$ 	��� 3 ��� 
��

FC



)*

������ C!B V "�	�� !#@ �
�� �	���� ���
� �� 2' μ� �� ���� �� �� ����
�� -''×2'' ��2

���������� �� *' �� �� E�E

����������� �� B U 3 C U ��(����$ �� �� ���(��� �������� 3 �� ������ ������� ��
C 3 F U$ 
� ���	������� ��1���
� ��������!

������ C!� V !������ ������ �� �	 �������	��� �����
��� �� �����
�� �� �	 ������	���� ��
��	��� �	����� ���
��



) 

������ C!C V !������ �� �	 �������	��� �����
��� �� �����
�� �� �	 ������	���� ����	�
���
�	� A ��	��	 �� �������	���

��� ��� ������ �����
���
�� ��  � 
�"��� �� ,�����


#��� 
�� ������ ���	��������$ 
� ����������� ��������� �� /������� �� 
� ���	�:
������ ���� ��� 
�� �� T 3$ �� ������ �(�� 
� ������� �
������� �� )������! *�� 	������
���������� 
� ���/��� ���� ��������$ �� 
�������� ��� ������� ���� ������ 
�� ����������
�� ���� �� ����8
$ ���	�������� ������
��
� 3 �� ���	� ���� �� 	������! *� 
����
	������� ��,�� ��� 	������ ��� �		��1�����(����� 
����� 3 
� ������� �� ����8
!
_��
�����(�����$ 
� ������ �� ���	���� 	��/��������! _���� ���:�
 �� ��(���

����������/ [ =�	������ 
� /����
� �� "����� �� �
! KFL �� 
� ����������� ���������
�� ����8
� ���� 
� ������ ��4���/ �

K(T ) = 3.2 × 103

(
2π2k4

B

5h̄3v3
s

)(2/3)
SΛCas

L
T 3 ?C!B@

<� 	������ ��� (������ ��,���� �� ��� ���� 
� ��
����� �� F��� �Z�$ (�
���
��������� �(�� 
�� ������� ����
���$ �� �� ���
����� 
��1	������� �� H���� 	��� 
���:
�������� �� 
���� 	������� ��,�� �� )������ ���� ��� 8
� �� ������� ��������
����
LA ×LB$ ΛCas = 1.12 (LA × LB)0.5 KBFL$ ���� �5������ 	��/�������� 
� �����������
��������� ��� ����8
� ������ 	��� ��� ���	�������� ��	�������� 3 C U!
*� ���

� �
������� �� )������ 	����� �� ���� ���	������ 
� ������ 	�������

��4���/ �� �����	��� ��� 	������! )�	������$ ���� 
� 8���� C!�$ ���� (�,��� �
��:
������ �� ���������� �� 
�� �� 	�������� ������ �� C U$ 
� ����������� �� (����
	
�� �� T 3! *������ 
� ���	������� ������$ 
� 
���� 	������� ��,�� �� 
� 
�������
������ ��������� ��� 	������ ����������$ ��(����� �� �>�� ����� �� ��������
��� ��������� ���������� ���������������� ��� ����8
�$ ���� 
� ���

� ��,���� ��� ��:
�������! ���� 
� �����$ ���� �

��� (��� ����� ������ ���	�� �� ��� �4��� �� ���

�$ �

��� 	�����
� ���1	
����� 
� ���	�������� �� 
� ����������� ��������� �� 
� ���(���
������ ����������� ��� �		���S�!



))

��! �� 
�"��� #���
���#�� �	 �����
���
�-  .����
��� 
�"������ ��  � ���( � �� /���	

*������ 
� 
������� ������ ��������� ��� 	������ ��(���� �� �>�� ����� ��
�������� ��� 
� ���

� ��� ���������$ 
� 	������
��� p ���(��� ��� ����� ��
��������
�� ���/��� ��(���� ��� ���
�����
�! )�
� �����S�� ��� ������������ �����8����(� ��

���� 	������� ��,�� ��� 	������$ ��� ����� 	
�� �������� ����� ���� 
� ������� ��
)������ ?�M ���� 
�� ����� �� ���/��� ���� ���������� ����� ��4���/�@$ ���� ���S� �(��
��� ������ �� 
� ���	������� �� /�� �� 3 ������ ��� ����� 	������
��� p ��������! <�
/������ ��� ���	������� �(�� 
� 
���
��$ ���� ������� ��� ���������� �� 
� ���/���$
��� 	�������� �� 
����� �� ���	� ���� ��1 ������ ���	��������$ �M 
�������
� ���
	������ ���� ��������$ 3 
����� �� ���	� �
��� ��1 ������ ���	�������� �������	����
��

�$ 
� ���/��� ��(����� �� ������ �M �� ��I��������� 
�� 	������! ���� �(��� ���
���
�� ���

� ���� ��� 
�� ���(��1 �� H���� K�DL �M 
�� ���
� 	����
���� �5�����
�� ����

� �������� ��,���� �� ���/��� ��� ����8
� �� 
� (������ �� 	��	������� ��� 	������!
*��(�
����� �� 
� /������� �� ������������ fk ��� 	������ ���� 
� ��������$ ���

��	������� 
� ������� (�
������ �� 	������ �� (������ ������ k$ ��� ����� 	�� 
�����:
���� �� "�
�&���� �

−vk.∇fk − e

h̄
E.

δfk

δk
= −δfk

δt
?C!�@

���� 
� ��� ��� ��������������$ �
 /��� ����� ���	�� ��� ��

������ �(�� 
� ���/���$
�� 
� 	������
��� ���� 	����� ����������� k ��>��� ��I���� ��
�� �� (������ ������
k′! )�	������$ �
 ����� 	�� �(����� ���������� �� ����� ��		
��������� �� ��4�������

������ C!E V H����	 �
��� ����� �
�� �	����� ������� 	��� ������
�� �
�� ������ ��� ���
����	�� �� rB�

���� 
��������� �� "�
�&����! H���� 	��	��� 3 
� 	
��� ����	���� ��� ����������

������ 3 
� /������� �� ������������! #
�P��� ���� �� �� 	���� �� 
� ���/��� ��
�����
� n �� rB ?8�! C!E@! ���� 
�� 	������ ����(��� �� �� 	���� ��	�������� �(��



),

��� (������ ���� 
� ���	������ �����
� vn ���� 	�����(�$ ����� 3 ���� ���
������� ��

� ���/���! )���� ��������� ��� �

fk(rB, vn > 0) =
∫

fk′(rB, v
′
n < 0)Rk

k′dk′ ?C!C@


� /������� Rk
k′ ��� 
� 	������
��� ����� 	����� �� (������ ������ k ���� ������

��
�� �� (������ ���
������ k′! ���(��

��� 3 ����� ���	�������$ ���� �� 	������
�� ���	�� ��� 
�� ����� �
�������� �� ���� �� ������
$ �� ��������� ��� 
� ������
�� 	������ �� 
��� ������� ���� ������(�� ���� 
� �,��
��! #��� ���������� 
� /���:
���� �� ������������$ �� (� �� 	
���� 	����� �� 
�����
����$ �� ���������� ��� /���
�
��(������ g (k, r)! -� � ���� �

fk (r) = f 0
k (r) + gk (k, r) ?C!E@

+ ����� /������� g$ 
�� �>��� ���������� ��1 
������ ���		
������$ �� ���� �

gk(rB, vn > 0) =
∫

gk′(rB, v
′
n < 0)Rk

k′dk′ ?C!�@

#��� ���������� g$ �
 /��� ����� ���	�� �� 
� /�������Rk
k′ ��� ��	������� �� �����


����� �� ���/���$ ���� ��� ��� ��
 ������ �� (���� �� ������ 	���� �� 
� ���/���!
H���� ��������� 	��� , �������� 
� 	����
��� 	��������
������ p �� �	���
�����! p
������� 
� 	������
��� 	��� 
�� 	������ ��>��� ��I����� �� /�P�� �	���
����$ �� ����

� �������� 1 − p ���� 
��� 	������
��� �� ����� �� ���� ��4���/! #��� ��� ���/���
	��/�������� ��������$ p = 0 N 	��� ��� ���/��� 	��/�������� 
���� ?����� 	��� 
��
��������� �� ������� 	��/����@$ p = 1! <� ���
����� �� 	����
���$ �� 	��� ��������

� /������� g ����� �

g (k, r) = pg (k′, r) + (1 − p)R
∫

g (k”, r) δ (Ek − Ek′) ?C!F@

*� 	������ ����� ������� 
�� ��I�1���� �
��������$ �M 
� ���	������ �����
�
�� 
� (������ �� 	����� 	���� �� −vn 3 vn! *� ���1�
�� ����� ��	������� 
�� �����
��4���/�! )�� 	������ ���� 
� ���1�
�� ��� ���� �������� 	��� ������ ���� ������ 
��
����������! )�� ���(���1 	������ ����������� 3 
� ������������ �������,�������
������
���� fk

0! )� ���1�
�� ����� ���� ����
���� (� ���� ������
�� �� ���	���S���!
*� ��������� 
����� ��� g ��(���� ���	
����� �

g(k, rB, vn) = pg(k′, rB,−vn) ?C!G@

*������ p = 0$ �� �� ����� ���� 
� 
����� ��4���(� ������� 	�� 
� ���

� ��
)������! *�� 	������ ��������� ���� ��������$ �� ������ 3 
� ���	������� ����
�� ��

� ���/���$ 	����

����� 3 
� ������� �� ��������� ��� ���	� �����! 2
 ������ ����������
�� ���������� 
� ����
�� 	�,����� ��� �������� �� 
� ���/��� ��� ���������� �����
�������� �� ��4���(�! )���������� 
�� 	������ ����� ��� ����� 	
���� �� 
�������
������ λ ����������� �����
� 3 
� ���/���! #������ �� ��(��� �� ��/������ 	���



� 3

� ���/��� ��,���� ?8�! C!�$ C!F@! *�� ����� ��I������ ������ �� �(���� �� ���������
�� 	���� ��
�� 
� �������� y (x) �� 
� ���/��� �� 	���� x 	�� ��		��� �� ��(��� ��
��/������ 	����������� ����
�! -� ������� ����� �� ��	������ 	������
 �



)0

φ =
4πy(x)

λ
?C!D@

���� ����������� 
�� ����� ��I������ ����� 	�������� 	�� �� ������
� �� 	�����
��		������ ���������� ���/�������� ��� 
� ���/���$ ���� �(�� �� ����� �� ��	��:
���� ��	������ �� 
� �9�� 	�� ��		��� 3 
� ��,����! *� 8���� �� ��4������� �����
/����� (� ��	����� ��� 	��	������ �� ������������ ����������� �� 
� /������� φ (x)$
��	�������� 	�� 
� (�
��� �� 
� (������� �

φ
2

=
16π2

λ2
η2 ?C!�@

-M η$ 
� 	����
��� ����	�����$ ��� 
� ������ ������ �� 
� ��(������ �� 
� �9�� 3

� ���/��� 	�� ��		��� �� 	
�� �� ��/������! ���� L 
� ���

� ��,���� �������� ���
��/���� �� ���/���$ 	��� 
����

� 
� 	����� ���� ��4��� �� 
��� ��>��� ��I���� ��
/�P�� �	���
����$ 
������ 
� ��	������ /��� 	����� 
� ��������� �� ����� ����$ �� ���
�� ������� 	�� 
� ��������� φ (L) = 1! ���M �� ������� 
��������� �

p(λ) = exp(−πϕ(x)2) ?C!B�@

+(�� ����� �1	�������$ �� ������(� ��	������� ��� p = 1 	��� Λ >> L ?������
�	���
����@ �� p = 0 	��� Λ << L ?������ ��4���/@!

������ C!� V #=�� �
��� 	����
�� ��
�	����� y(x) ��� �	 �����
�� �
��� ����
��	�� 	�����
��� �� �������� �
���� λ�

������ C!F V 	� �����
�� �
��� ���� ��	�� ���
��� ����	�� � �����
�� η ��	��� ���	�� �	 ��������
�
���� λ )�	� ��	��
���� �
=��
�� �� ����	��0� �� ��3
���
�� �
��� ���� ��	�� ��	�� λ >> η )�	� �����3
�	
��0�

���� ������������ ��� 	������
��� �� ������������ �� 	����
��� ����	������ η
	��� 	������ �� ���	�� 
�� ���	������ �� 
� �������� �� ���/��� �� �.��� 
� ���

� �

P (η) =
1

η0
e−η/η0 ?C!BB@

)���� /������� �� ������������$ ��� �� 	�>�� ���� ��1 ��
��
�$ ������ ������������ 
�
�������� ��� ����8
� �� ��
�����! 2
 , � ��� /���� 	������
��� ��� ��	������ 3 
� ���/���
��>��� �� �>�� ����� �� �������� �� 	
�� 	������ ��� 
� �������� ��,����$ �� ��
�
	�� �� ������ ���(��� ��� ��/���� �� ��
� ������ ���

�!

p(λ, T ) =
∫ ∞

0
P (η)exp(−πϕ(x)2)dη ?C!B�@



)$

*� /������ �1	�������
 �� 
��������� C!BB ����� 	����� �� � 	��� ��� (�
���� ��
η > λ/4π$ ���� 	��(��� ���	
�8�� ����� �������� 	�� �

p(λ, T ) ∼=
∫ λ/4π

0
P (η)dη ?C!BC@
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������ �� 	����
��� p �� �� 
���� 	������� Λ0 �� 
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Λph =
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1 − p
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Λ−1
ph = Λ−1

eff + L−1 ?C!B�@
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��� η0 �� 
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	����
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 ����� ��� ���������� B� �� C�! ���� ����������� ����� ��� �����������
��������� KC �� ������� �� ����� �(�� 
� ����������� ��������� KN �� ����8
! *�
����������� ����
� KT �� �,��
�� ����8
Z�������� ��� ������ 	�� K−1

C = K−1
C +

K−1
N ! ���	�
� 
�� ��/������� ���(����� KBD$ ��$ G�L$ 
� (�������� �� ���	������� �� 
�
����������� ��������� �� ������� 	��� 
� ���� 
����������
 (���8� KC ∝ T δ �M δ
��� 
� ��������� �� ��������! *� /����
� 	��� �� �������� C� ��� ����� 	�� KG�L �

KC =
2π3

15

k4
B

h̄3

tR2

vs
T 3 ?C!BF@

R ��� 
� ��,�� �� ����8
$ vs ��� 
� (������ �����(���� �� ���$ �� t �� 	����
���
��	������ �� ��������! #��� 
� ��
����� C�$ �� 	����
��� ��� ������ 3 t = 0.923 K��L!
<� ��������� ����� ����������� ��������� �� ������� 3 ��� ����
������$ �� �� ��
����8��� ��� 
��
������ 
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��� �� E!E$ ����
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�� ������� ��� ����� 
� ����� �� ���	�������
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��4������ 	��� ������ ������� ��1! +���� 	��� 
� ���� �� �������$ KC ∝ T 5 �� 	���

�� ����� �� I�1���$ KC ∝ T 3.5 KG�L! )�	������$ ��1 (��� �� 
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���
� ��� �
��� ���� 3 ��
$ �� ���� 	��(��� �
� 
���

���� ���������� ��� 
� 	��������� �� 
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j (r) = −k∇T ?C!BG@
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�! *� ����8
 ��(���� 3 ��
� ����� ���	���:
���� ����� 	������

� 	��� 
� �����	��� ��� 	������$ �� ��� �		����� 	������� >���
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0!

*� ���1�
�� �,	���
�� ����� ������

����� ��� ���� �� ��/��� �� 
� �������
3ω ���(��������

� ���� 
� ������ ����:��
�������!
��� �1	�������� ���	
���������� ���� ����������� 	��� ��	������� ��� ���1 �,:

	���
���$ ����� 
� ������ �� 8
� 	��8
�� �� 
� ������������� ��� 	��	������ ����:
������ ��� ����8
� 	�� 
� ������� �������� ����� ��� 
�� ������	����� ?(��� ���	����
F@!

!�! ���� ����	� �� )�	��
,�
 � �� �����
����	 ����
 �� ����
��

+8� �� (���8�� 
��,	���
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��� ��� ����� ��:

�������� �� ���1	
����� 
� /���� ������������ �� 
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� 	�� 
� ������� ��
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��� ���� ��� ����������$ �� ���

� ����
������
�
�������! ���� 
��� ���

�$ 
� ����������� ��������� �� ����8
� ��� �1	�����
����� �

κ(T ) = F (T )S
3

8π2c2

k4
B

h̄3 T 3, ?E!�@

F (T ) =
∫ ∞
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���� ���� ����������@!
<� ���������� 
� /���������

� ��������� �� �,��
��$ ���� �

��� 	��(��� ��:

�������� 
������ ���		������� ��� ��4������ ����� �� /������ ���S��� 
�� �����������
��	�����$ �� 
���	
����� D �� ������ �� ��� �����! )���� ������� (��� �

F (y (x)) =
∫ L

0
dx

⎡
⎣ EI (y”′ (x))2

2
(
1 − (y′ (x))2

) + P
(√

1 − (y′ (x))2 − 1
)⎤⎦ ?�!F@

�� ����� /�������$ ���� 	��(��� ������� ��� 
� ���� rn ���	
������ 
� ���������
2rn ≤ √

β < 2 (rn + 1) ��� 
� ���� ��������������� 
� 	
�� /�(����
� 	��� ��
�1�� 
��
�����������$ 
���	
����� ��� ��/��������� ��������� �(��

√
β − 2rn! ��� 
�� ����8
�

�� B�� �� �� 
����$ ���� 	��(��� ��	���� ��� ���������� �� ���� q1 �� ���� p1

�� /������ ���S��� 
��� 
�������! �� ���	$ ���� 	��(��� ������� �(�� ��� ��
���(�
	�������� 
� 
������� �� ���������� �M

√
β = 2p1!

�� 
� ������� �� 
���	
����� �� ���� q1$ ���� 	��(��� �������� 3 ��� ����:
������ �� 
� ���������� σSi ������� 	�� 
� ������ �� ���! *���	
����� �� ���� q1

(��� �

Y (ξ) = D [cos (2πξ) − 1] ?�!G@

#��� ξ = 1/2$ ����� ��	
����� (��� 2D! =��������� ������� ��� 
� ��/��������
����� ��� ����������� ��� /���
� ���	���� 3 
� 
������� ����
� L �� ����8
! +����D/L
��� 	����!
<� ����5������ ����� �1	������� �� Y (ξ) ���� 
� /���������

� �� �������$ �� ��

/������ �� ��(�
�		����� 
����� �� ��

�:�� 3 
������ E �� /������� �� D/L$ ����
�������� �
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)
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(
D

L

)2

+ b
(

D

L

)4

?�!D@

�M a ������ �� ����� 
������ 
��� ������� 
� ����! )���� 
� 	�������
 �� T/��� ��
������

�T!
���� 	��(��� �������� 3 ��� �1	������� �� D/L �� ������� ��������� ��

/������� �� ���������� 	�,������ �� �� 
� ���������� �		
����� �

D

L
= ±2

√
2

π

√
12

2π2

σSi

E

(
L

t

)2

− 1 ?�!�@

*� ����� ± ��		�
��� ��� 
� ���� ���� 
����
 
� ������������� I���� ��� ����:
�������� 	��� �� ���

� ���	
�! <� 	�������$ ��� ��,������ �1���� �� /��� �>�� ��

� 	������� �� ����
 ��� �� ���
 �9�� �� 
� 	�����!
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�

���� ��� ��4������� ���	��$ ���� ���������� �� �4�� 
� 	������� ��� ����� q1

�� p1! *������ ����������(� ��� ����� ����� ���(
�� ��	������ ��
�����!
���� �(��� ����� �� ���	���� 
�� ������� �� ��/�������� �4������� 3 
�����

�������� 	����� ��  <" �(�� 
��1	������� �� D/L 	��� 
� ���� q1$ ���� ���� ���:
����� ���������

��� (���
�� 	��� �(��� ��� ����
���� 8��
�� ?�� �������1 ����8
�
��1 ���

�� �������������� ���� �� ������� �(�� 
� ��������@! *�� 	����
��� ������:
����� ������� ��� (�
��� �� 
� ���������� �� ��� �� 
������ �� 107 − 108 #����
$
	��� �� ����
� �� W���� 81� 3 B�� ;#�$ �� ��� ��� ���������
�!

������ �!C V #��
�	�
�� �� �	 �	����� �� �	 ������	�
�� 	� ������ �� �	����� �� .'' �� ��
�	���� �� �������
������ �� 2* �� 2& μ� �� ����� �	�� �� ���� q1� �
	 ��� 
�	�� !#@ ���� ��
	���� �� +' ������� 8	 �	����� �� �	 ������	�
�� �� �	���� �� ���� ���� ��� ���
��� � .'- ��� ��
����
 �� 2* μ� � &&& ���

���� �� ���

�$ 
� ��/�������� �� ��	��� 	�� �� 
� 
������ �� ����8
! ����
��(����� ���� �(��� ��� ����
���� ����
����� ����� ��� �������

��� �� ��4������� 
��:
�����! -�$ 
� ���� p1 �		����� 	��� ��� 
������� ���	���� ����� B� �� BC μ� 	���

�� 8
� �� B�� �� �� 
����$ �
��� ��� 
�� 8
� �� ��� �� ��� �� ������� ���� 
� ����
q1 5�����3 BE μ�!
)���� ��4������ 	��� ����(�� ��� �1	
������� ���� 
�� ���������� �� ��	9� ��

���! <� �4��$ �� ��	9� �� /��� �� ���1 �������! *�� ����������� ���������� �(��

��	������� �� 
� ������ ��	����! +� ����� �� ��	9�$ 
�������
� ��� ����8
� ��



$%

����(� ���� 
� ���� �� 	
�� ����� ������� q1! #���$ 3 	����� ����� �������� �	�������$

� ���� p1 ��(���� ��������������� /�(����
� ?

√
β = 2p1@! -�$ �
 , � ��� �����
��

��������� 	��� 	����� ���� ���� 3 
������$ �������� 	
�� ����� ��� 
� ����8
 ���

����! +���� 
� ���������� 	��� �(��� 
��� 	��� 
�� ����8
� 
�� 	
�� 8��$ ������ ��� 
��
	
�� �	��� ������� ���� 
����� ��������
� q1!

�� 
� ����
� �� W���� ��	��� �� 
� ���

� �� ����8
$ ���� 	�������� �(��� ���
����� �1	
������� �� �� 	�����
��! *� ��.��
�� ������ ���� 
����������� �� 
� ��:
	������� �� ����
� �� W���� ��1 ���������� ��� ��������������$ ��� ����� 	
��
�������� 
������ 
���� �� ��� ���������� ��(���� ��/������� 3 B�� �� KGFL! +����$ 
�
����
� �� W���� ��� ����8
� 
�� 	
�� 8�� ���� >��� 	
�� /���
� ��� ��
�� �� ��� ��
�� 
����!

#
�� 
��������

�� ��� 8�$ 	
�� E ��� 	����$ �� β = PL2

EI
�����! -� ������� 	
�� ��:

	������� 
� ���������
√

β = p1$ �� ���1�
�� ���� �		��������� 	��� ��� 
��������
	
�� �������! + 
���(����$ �� �������� 
� 
������� �� ����������$ ���� 	�������� ��:
������ 3 
� (�
��� �� ����
� �� W���� �� ����8
$ �� �
� 
��� ���������� 
��(�
�����
�� �� 	����
��� �� /������� �� 
� 
������ ��� ����8
�!

*� 	������� �� ������� �� ���� ��� ����8
� �� B�� �� �� ����(� 	�� ��� 	
�� ���
�1	
������� ���� 
� ���

� �� I������! *� �������
��� ��	��� ��� �� ���
 �9�� ��
����8
 ��� ��� ������ ����������	�� �(�����

����� ���	�����
� �� �� 	�����
��!
���� 
�� �������

��� �� *<�2$ �M 
�� �����(���� ���� 	��/�������� �,���������$ ��
T�R���T � ��� �����(� 	��� 
�� ����8
� 
�� 	
�� 8��! ���� �� 	��(��� ���� ��	���� ���
�4�� 3 
� 	������� ��� ������� ���� ��� ���	��$ ����� ������ I������� ����������	��!

"��� 6
���
����
�

)���� 	����
�� ����� ���������

��� �		�

� 3 �� /�������� �� ���(���1 	��� ��:
��� ��� ����� ���	

��! Q� ��/��� ��5��� /��		� ����� ����� � �� �������1 ����8
�
���� �� ������� �(�� 
� ��������$ 
� ������ ���1,�� �������� ����� ���	 8��! -�$ ����
���	����� �� 
���������� �� ���(���1 ��������� �-2 ���� 
��	������� �� 
� ������
�����8���

� �� ��-2 ��� �� Bμ� �� 
��� �� E�� ��! �
� 
���$ 
�������
� ��� �����:
����� ��������� ���	������$ �� 	��������� ��� ����� ����������� �� 
��(�
����� ���
����������� ���� 	
�� �����!

<� 	
�� �� /���� (����� 
� 
������� �� 
� 
������ ��� ����8
�$ ���� 	�������� ���:

����� 5���� ��� 
��� �	�������$ 
� ����
� �� W���� 3 ��� ����

�� ��(��� /��������
��	����� �� ����� ���������!

<�8�$ 	
������� ������ �(�� ��� ��	9�� ����

����� �� ��4������� �	�������� ��:
(������ 	�������� ��� ��������������� �	����
� 	�� ����� ������� �������� �� 
���:
I����� �� ��� ��� 
� ��
�����! ���� ��(�������� ����� �� /���� (����� 
� ������ ��
��� �� ���
���� ��&����� 3 	
������� ��������� �� �����
����!

*� ���������� �� ��� ������� �		������ ��� ��/��������� ����������(�� ��� 
�����
�� ���������� ��� ����8
� �� ��
�����! 2
 	������� �>�� 	�������� �� ���������� 
�
(�������� �� ����
� �� W���� �(�� 
� ���

� ��� ��������������$ 	���

�� �������
���
��
� ��(��� KGFL!



$*

%�� ����� �3	���#�� ��� �
��
����� ����	�#��� ���
	�	�& �

*������ ��� �< � �� ���  < � ��� �� 	
���� �4��(�������! *���� �		
��������
���� ��(����� � �������
����$ ��	�����!!! <� /������ (����� ��� ��5��� 3 
��� /��������
�� ����������$ ��� ��	��� �� 
��� ���������$ �� 
��� ����� �� �� 
��� ����
� ��
W����$ �� ���������� ��/��������� ��� 
���� 	��	������ ���������� 	��(��� >���
��������! +���� <��, )�

�� � ������ �� �����
 ���  < � �� ��
����� ��1 ������
���	�������� K�GL$ ���� 
� /���� ��� ��

� ���� 	������� �����$ ������ ���1 	������
��
���� ����� �

�� ?8�! �!�@!
���� �(��� ��

����� �(�� 
�� �� /�������� ��� �< � 	��� ��	
����� ��� �1	�:

������� 3 
�����

� �� �����
���$ �� ���	���� 
�� ���1 ��4������ �������� ?8�! �!F ��
8�! �!G@! )�� �< � ��� ��� ���P�� ���	�
� 
� ������� ��������� �� ��������������
���	������ �� ��
����� �1	���� �� ���	���� �!
*������ �� ��� (��������� ��

����(�� 	����� �� ������� 
�� 	��	������ ����������

��� ����	�������� �� ��� ����8
� �� ��
����� �� ������
! 2
 ��� 	�����
� ���
�����
�� �������� ��1 ��/��������� ��� 
�� (��������� 
���
��$ ����� 3 ���� 
�� 	������$ ��
�������� 
� ��
�1����� �� ��
� �,��
���! *� ���
��� �� 
� 8���
��� ��� ����
���� �������
��� 
��  < � 
������� 	������� ��� �1	�������� 	�����������!

"� �� 6������
� 	
 
�
.����
��


Q�� ������ ����

���� ��� ��	���� ��� 
� 	����� ���	�����! *��������

�� ���
	
��� ���� �� ����	 ���������� B ��������! Q� ������� ������]��
 I0 3 
� /��������
ω 	������� 
� ����
$ �� ��� /���� �� *�	
���$ ���
����� ������]��
�$ ���1���� ��� 
�
�������������! + 
� /�������� �� ���������� ��������� �� 
� ���������$ 
� 	����� (�
�� ������ 3 ����

�� /��������! *� I�1 ���������� ���	� 	�� 
� ������ ����

���� (�
�
��� (����� �(�� ��� ����

������$ ���������� 
��		������� ����� /���� �
�����:�������
V ��1 ������ �� 
��������

��! *� ������ �� ����� ������� 	����� �� �������� ��1
��	
������ ��� ����

������! *��������� �� 
� �,������� ?
�������@ ��� ��

� ����
����

����� B� �� ����� m$ �� ������� k �� ��������� 
� �����	����� λ �

mx′′ + λx′ + kx = I.lBcos (ωt) ?�!B�@

x ��� 
� (�����
� 	������� �� ���� �� 
� ��������� �� 
������� l!

V = lBx′ ?�!BB@

*� 	�������� ��� �� ������� ����� ������� V 3 
����� ����� ��������� �,�������
�� �� ��
�,�� 
� /�������� ?8�! �!�@!
*�� 	����
���� 	�,������ ��
� 
� ����
� �� W����$ 
� �����$ �� ������ 
� ����������

��� 3 
� ������ �� ����
 	��(��� �
��� >��� ������� �� 
� ������ ��� ����������������
��� 	��� �� ���������� � 
� /�������� �� ���������$ ��� /������ �� ���
���$ 
���	
�����
��� ����

������$ 
� /���� 
����� �		
����� 	��� 	����� ���� 
� ������ ���:
�������!



$ 

������ �!E V H����	 ����
�	�
� �� �	 ������� �� ������ �� 
�	�� !#@ �
�� !#!H ,-Q/�

������ �!� V !����� �� �	 ����
�� �� ��	�� )1���)φ00 �� �� ��	��	���� )1�
�)φ00 � �	 ������	���
���	�
��� ��� !#!H ������� �	� �� �	�	%	�� �� ��������� ω� ?�	��
�
�� �
�� ���
�� �
��	
��
� �� ���
�� ��� �
��	
�� �� 	������	�� �	 ����� �
���
�	�
�� )�� �	���� � ���
��0� #� ���
��
���3�
��	
��� ��� �%������
� 	��	�	B� �� �����
�� �� ���� �� �	�	%	�� �� �	 ��������� )� ����� 	�
������0 ,-Q/�

"� �� 6�
����
� ����

������

���� �(��� �
����� ��� 	����
�� ����� �� �< � 3 
������ �� ���  < � ��
��
�����$ �����(���� ����� ������ ��	������������� �� ������� ������!
)���� 	����
�� ����� ���������

�� ���4�� �� /����� ����������� �������� 	�� 
�

������ �� ������� ������ �� ����$ ���� ��
� � 
��(������ �� 	�������� �� ������



$)

������ �!F V "�	�� !#@ �
�� E#!H �	��
��� � E7ELM7@ � �	��
� �� ���� ������	� HL"
�� &'' �� ��
�
�� ���� ��� ����
��� �	���	������� 8�� ����
��� �� �	 �	�������� �������� 2. μ��
�
��	
����� �� �
�
�
�� ��� �� -''��� �� �
���	��
���� ��� ��������� �� .. �� �� E�?"� �	���
	�
����	���������� :����
� AF� �� �� -' �� �
7��

������ �!G V "�	�� !#@ �
��� 	���� �������
� �� E#!H 	��� ��� ��	� ��	������� �	���� ��
-'' �� �� ����� �
2 μ�� �� ��� ������ �����	�� ������ �� .μ�� $� �%�� �� ��������� ����	
� ���
����
� ���� �	��� ����������

������������ ��� �� �-2 8�! Q�� ���1�
�� ����� �����(���� ���
������� ��� ��
	��	�������$ �������� ���� ����� ��������� 
��� �� ��	9�!
*�� 	����
��� ������� ���� ��
� ��������������$ �>�� �� �
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ac ?(��� 
� 8���� F!� �@! <� ������ ���	��

�� 
� ��4����� ���� 
� ���	�����/ ����� 
�� ���1 ������������� ?����4��� �� ������:
�
���@$ �� ������� ����� ���	������� �� ��(��� �� �������
��� ?��

� ���

�����
�������@ �

δT thermo
ac =

RI2
0

2ωC

(
1 +

1

(ωτ)2
+ (ωτdiff)

2

)1/2

cos(2ωt + ϕ) ?F!C@

)���� ����� ���	������ ��� 	���� 
���/�������� ��� 
� ���
��� �	���8���! -� (���
����� ���	������ 
�� �,	���
��� ��� 
� /�������� � 1/τ << fmeas << 1/τdiff $ 
�����:
���� F!C ��(���� �

δT thermo
acRMS =

RI2
0

2ωC
?F!E@
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#�� ���������� 
�������� �����
 3 
� /�������� 1f ��� �		
���� �� ����4���$ ��
������ 
� ��	����� ��
���8��� �� �������� 
� ��	���� �� ������� 3 
� /�������� 2f
��� 
� �������
��� 	�� ��� �������� �
�������� �� ��������� �,�������!

������ F!F V #�������	��� �� �����:
���	� �
���������� 3 ��
�,��� ? <"@
���� ��	���� 3 �������� �� ��
�����$
�� , ��������� 
�� ���1 ������������� �

� ����4��� �� ���(�� �� ���� �� 
� ����:
���
��� �� ��� �� ���$ 
� ����� /���
�� ��

��
���!

������ F!G V #�������	���  <" ����
��	���� 3 �������� �� ������� �� ��
�:
����! +� ������ �� ��������� 
�� ���1
������������� ���
���� 	�� 
�������	���
�
���������� � +�;� 	��� 
� ������:
�
��� ?������@ �� +� ?������@ 	��� 
�
����4���! *� �������� ��� �� �� μ�
�� �9�� KC�L!

4����������
 1 ��������	�#A�	� 
�	 #�#�	���

*������ 
��� (��� ������� �� ��
� 	����� �������

��� �� ����� ��/������� 3 
�
�������� �� �����������$ �� ��� �� ���(�� ����� ��������� 3 	����� �� ��������
���	����� �� ���������� ?(��� 8���� F!� �@! <� ���(��

��� ��� �� ��
� ��		����$ ��
	��� 3 
� /��� �����9
�� 
� ���
��� �	���8��� �� ��	���� ���� ����� 
� �����������
��������� �8� ��������� 
�� ���	��������� ���������� ���������! #
������� ��	:
	���� ���� ���
���� 3 ����� ���	�������$ 
� ��
����� �� 
� ������� �� ��
����� ?��3�4@
����� �� 	��� 
� (��� 3 
� 8���� F!F �� F!G! *� 	������ �� ��� ��������1 3 
��(��:
���� ���(��� ��� ���
��� �	���8��� ��
� /���
�$ 
� ������ 	����� �� ���(��

�� ��� ���
��������� �� /���
� �	������� ?e < 200��@! ��� ��	����� �� ��
� 	������ ����������
��� 	� >��� ��� �� 	���� �� ��
����� KCCL �� �� ������� KC�$G�L �� ���
����� 
�� �����:
�������� 	�� ��� ��	9�� �� ������ �����! *�� ���
�������� ��� ��
����� ��� 	�����

� ������ ����5��� �������	����� ��	������������� �� ���

� ������������� 	���

�����
� ��� ����������� �� 	���� �	���8���� ��� 	� >��� ����� �� �(������ K�$ FFL!
*� ����
����� �� ��� ��	����� 3 BU$ �� ��,������ ������ ��� ������ 
� �����
 ���
�� 
������ �� ΔC/C = 8 × 10−5$ 	��� ��� ����

����� �� ���	������� ����	
�����
δTAC = 5 �U N �� ��� ����� ��� ����
����� �� ������� �� ���
���� ����0��
� ?B�−18

0��
�$ (��� 8���� F!F@! *� �������
��� ������� �� μ�2 ��� �� ���
���� kB �� ��� ��(��
��� 	���	����(�� 	������������ �� ������� ����5��� �� ���
���� �����
���� KFE$F�L!
)�	������$ ���� ��	����� 	��(���� �� &�	��0��
� ��J�� �� ���(���1 ��	����� ���:

���� �� ����� �� ����� ��
��!
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� ����� 
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	�
�	 ��
������� ��� �� �� �
������� ��	�=	�� �� �	 �����	�� ����������

#���� )�*�������� 
� �
�(������
� 	
� ������
�������
�

���	������� ��
 ����������	


;�J�� 3 
� ���	������ ��(�
�		�� ��������� �� ���������� ���	������ �� ��
�:
����$ �� 	�� 
� ��S����� �� 
� ��	���� �� 
�������	��� �
����������$ 	��������� ���
���
��������� �� 
������ �� 
� ��&���� �� �����
���� ����� ��� ��	9�� ��������/�$ �

���� ��� 	�����
� ��������� �� /�������� ��� ���	�����/� ���	����� ���	
�1�� ��� ���
��������� ����� 
������ �� 
������ �� μ� �� ����� �	������� ���	���� ����� B�� ��
��� �� ?8�! F!C@!
*� 	����
�� ���	� ��� ���� 
� /���������� ��� ��������� ���	������$ �������

�� ���	���� �! <� �����(��� 
�� ��������� �� 
�� /����� 	
��� �� ����������$ �

/��� 	����� 3 /�������� ��� ������� �� ���
��������$ ����/� 	��������� �� ���
�� 
�
/������� ���
������� ��  <" 
��� ��� 	��������� ���	�� �� 
�������	��� �� /����������
��� ���	������ ��� ��	�����! +����$ �
 ����� 	�� �(����� �� �� ��	���������� �� ��
(���� ��	���� �� �������� ��� 
�� �������� �� ���	������ 
���� �� ��� ��! *��
���������� �� ���
�������� 	��������� ��	������ ���5����� 
�� ��4������� �������
�(�� ��� 	�������� �� 
������ �� �� ��!
+���� 
�� ����(��� �� �������� ��	��������������$ ��� 
������� 
� �����	��� �� 
�

���
��� 	�� ��		��� 3 ��� �����1 �
��������$ ���� ��	����� ��� 
�� ���� �� ���	������
�� 
� ������ �� 
� ��������$ �����(���� 	�����

����� 
�� 	
��� �� (�� ����� /����
�����1��� �� ���	�����/ 	�� �����:������� �� 8
 ���
������� ?8�! F!D@! *��	�������
�� ��� ��������1 ���� >��� ������� �� �������$ 	��� 
������ 
�� ����������� ����:
������ �� 
��� ������������ 3 
� ���
��� �	���8��� ����
� �� ��	����$ ��� ���� >���

� 	
�� /���
� 	�����
� 	��� ���
����� 
� �������
��� �� ������! ���� �(��� ��(�:

�		� �� ����� ��� ����(��� �� ������� �� �
������� ?TC = 1.7 U@$ �� �� �������
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������ F!� V �
=������ �
����
�
�� ��������� ��	�
��� �	�� ����� ����
 �� ���
� �� �����%����

������ ?TC = 8 U@ �����(����� ����� 8�� ������ ���� 	��� ������� �� ���� ��������
�
���������! 2
 ������� 	�� �(����� ��� ��� 
����� �� ������� ��1 ���������� ��������
������(��� ��� ����� ���	������� �� ���������� ��	��:�����
�! )�	������$ 	��� ���
�	������� �� E� �� ���
�������$ 
� ���	������� �� ���������� ����� ��1 �
�������
�� B!GU$ �� 	��� ��� �	������� �� �� �� �� ����$ ���� �������� ��� ���	�������
�������� �� G!�U$ �� 
��� ��� D!� �� �>�� �������� �����/! *��
������� ��� ��:
	��� 	�� �(�	������� 	�� �4�� 0��
�$ �� 
� ���� ���� �� �J�� ��������� �� ��	9�
	�,����� 	�� 	
����!
#��� ��� 
�� ���������$ ���� ��	����� 
�� �������
���� �� ��� ����� 
�� ��:

��(��� �� �������$ ��
�� 
� �>�� 	������ ��� 	��� 
�� ����8
� �� ��
����� 	�������
�� ���	���� �! *��� �� ��� ���1 ���	������ �������/� ���(��� ���
����� ����4��� ?��
, /��� �����
�� �� T/���T �������@$ �� 
������ �� �������
��� ?�� ������� /���
� ��
���	������� , ���� �		
����$ �� 
� (�
��� �� 
� ���������� 	���
��
����� ��
�����
������� 
� ���	������� �� 
� ��������@!
���� �(��� /������� ����� 
�� 	������� ��	����� ����� ?8�! F!�@! ��� ��������

������� ��1$ �� ������ �� ��	���� 
�� ����(��� �� �������$ ���� �(��� �5���� ���
������� ������� �� Bμ� �� ����
��� �� �������� ��	������������ �� ������ �� 
�
��������$ ���
����� ����� ��� �������

��� ���	
��� 	��� ��� ������� �� ��
�����:
���� ��! )�� �������

��� 	���������� �� 	��
����� 
������ ����������� �� 
� 	�,�����
��� (����1 ���
���� 	�� 6
����� -��$ �� �������� ��������� ����5��� �������	�����
�������!
2
 /��� �� 	���� ���1 ��������� �(��� ���4������ 
�� 	����
��� ������� �
V ��

� ��� 
� 	
��� �� /�������� �� 	
����� ����������� �M 
��������

�� (���8�



�:,


��,	���
�� 1/τ1 < ω < 1/τdiff [
V ���

� (�������� ��������� ��� ��	����� 	��(���:�
� ������� [

<������� ������� 
� ���
��� �	���8��� ���� ��	����! )���������� ��� �������� ��
��
����� �� �μ� �� �9�� �� ����� �	������� �� ��� ��$ ��� �������
���� �� ��� ��
B�� �� ���	�������$ 
���� �� ��� �� �� 
����� �� ��� ��$ �� ��� ����(��� �� �������
���
������� �� E� �� ������(���� �� C� �� ��+�$ ��� ��� ���/��� ����
� �� D��b���
��2! 2
 ������ ��� ���������� �� ��	���� �� 
� 8���� F!C ���� 
� ������ ��	��������:
����! <� 	������ 
�� ��	������ ��
���8���� ����
��� 3 B U �� ��� ��������1 �

Ctot = CSi + CNbN + CAl + CAu + Ce−NbN ≈ 8 × 10−18 + 10−18 + 4.5 × 10−18 +
2.5 × 10−18 + 10−18 = 1.7 × 10−170ZU
<� 	������ ��� ����
����� ��������� ��1 ��	����� Bères ����������$ ���� ΔC/C =

8 × 10−5$ 
� �������
��� �� ������� ��������� �� ��� ��	����� 	��� ��� ����

������ ��
B� �U ��� �� 
������ �� ΔE = ΔC × δTAC = 8 × 10−5 × C × 10−2 ≈ 10−240! Q��
��

� ����
����� ��(�� ��� 	���	����(�� �������� �� ������� ���������� ����5���
�������	�����! ���� 	��(��� ���
����� ������������� �� F ������ �� �������� 
��
	��/�������� ��� ��	����� �� Bères ����������!
#��� ������� 
� ���
��� �	���8��� ��� �������

���$ �
 /��� ���(��

�� �� /��������

�� ��(��� �� 	
����� ����������� ���������� 	�� � 1/τ1 << fmeas << 1/τdiff !
τ1 = C/K ��� 
� ���	� ��������������� �� ��
�1����� �� 
� �������� (��� 
� ����:

������! <� 	������ 
� ���
��� �	���8��� ������� �� ��
����
��� �� ��
��
 	��������$

� ����������� ��������� ��� ������ ���� �(�
��� 3 	����� ��� ������� �� 
� �������
3ω$ �� �� ���
������ 
� ������������ ��� ����(��� �� ������� ��	��������������$ ����
����(��� 3 ��� ��������� �� ���	� τ1 ≈ 10−6�! ���� 
� ��� �� 
��
�������$ 
� ���:
��
�� �,	���
�� ��� 
���������$ ���� 	��� 
�� 	
�� ������ ���	��������$ �� �� 	������
�� ���� ���������� 3 DU$ ����� ���5������ �� (���8�! ���� �� ����������� ��� �����
����� �� �������� �� τ1$ 
�� ������� 	���������� ��� ���� ���

���� ���������������!
τdiff ��� �� ���	������� ��
� 	����$ 
� �������� �� ������
����� ���	�����(�����
��	�������!
2
 /����� ������������ ���(��

�� 3 ����� /��������$ �� ��(��� �� 
� ��&���� (����

�� 
� �������� ��  '&$ �� ���	��� 
��
���������� �� ������ �� �����������!
*� ��	���� �� ��
��������� Bère ���������� ����� ��53 
� 	
�� ������
� ��	����!

;�J�� 3 ��� ���(���1 ��	����� ����� �������
��� ���
����� �� 	
������� ������ ��
��������$ ���� 	��(��� ��	���� ��	������ 
�� 
������ �� 
� ������ ��� 	��	������
���������� ����5��� �������	�����!

'�� )���
� ��  � ��	�����	�� ���
��#�� ��� �
��
�� 	�	�������
� �����	���

<� ����8��� 
� �����	���� �� ��� ������
����
����$ ���� �
������� ��� ��	�����
���	��� 3 
� ������ �� ����������� ��������� ��� �������� ��� ����������� 
� �����:
���� ���	����� ?8�! F!B�@! *� 	�����	� �� 
� ������ �� 
� ����������� ���������
��� ���	
� � ���� �

��� ����4�� 
� �������� ���	����� 	�� �4�� 0��
� 3 ���(���
�� ������������ �� ���$ �� ���������� �� ���	������� 	�� 
� ������ �� 
� �����:
����� �� 
� ������ �������������� N ���� ���	����� ���
����� �� �������
���� ��1
�1�������� ��� ��������$ ���� 
�����
� �� /��� �����
�� �� ������� ��
� /���
� 	���
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����

������� 
� ���	������� �� 
������� 
��		��� �� ���
���! �
� 
���$ ���� 	��(��� ��:
����� /���
����� 
� (�
��� �� 
� ����������� ��������� Kbras = Pjoule/ΔT �� 
������
�� ���	������� ����� 
� �������� �� 
�� 	
���! ��� 
� ������ F!B�$ ����� �����������
��������� ��� 
� ����� ��� ������������ ��� B� ����8
� 3 ���$ �� ��� � ����8
� ���

�����
� ��	����� 
�� ����(��� �� �������!
*�� 
����� �� ������� ��	�������������� ���������� ��� 	����� �� 
� ���
���$ �


(� /�

��� 
������ �� ��1���� 
��� ������������$ �� ������� 	�� �1��	
� ��� ����
�������	 	
�� 
���� ��� 
�� ����8
� 3 ���!
���� ��(�������� ���
����� ��� ������� ��4�������

�� ����� �������

���! <�

���	����� ��� ��	����� ���	����� �� B� ����8
� 3 ��� �(�� ���1 �� ���	������ ��$

� ��4������ �� �����
 	�������� ��������� 
� ������������ ��� ����(��� �� �������!
<�8� ���� 	��(��� (���� ���	�� �� 62" �������� 8
� �	�
� ��� 	����
�� ����� ��
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Abstract We report on the dynamic measurements of thermal properties of nanosys-
tems at very low temperatures. These techniques are based on the modulation of the
temperature and hence leads to highly sensitive measurements. We will discuss the
intrinsic limitations of these methods when the thermal properties of nano-objects are
studied at very low temperatures, much below 1 K. Firstly, we will present thermal
conductance measurements using the 3ω method. This technique is limited at low
temperatures due to the significant increase of the mean free path. Secondly, heat ca-
pacity measurements using ac calorimetry are outlined, and again restrictions occur
due to the continuous temperature gradient inherent to that technique. Propositions
are made in order to overcome these limitations.

Keywords Nanowire · Thermal conductance · Specific heat · Calorimetry · Low
temperature

PACS 62.23.Hj · 63.22.-m · 74.78.Na · 85.85.+j

1 Introduction

There is a growing interest in measuring thermal properties of nano-objects associ-
ated to the continuous downscaling of the sample sizes in condensed matter exper-
iments [1]. Especially at low temperatures, the competition between characteristic
physical length scales gives birth to new thermal phenomena like perturbations in
the phonon transport (quantization of the thermal conductance, ballistic transport,
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phonon blockade, surface roughness effects) or existence of new phase transitions in
mesoscopic systems [2, 3]. Considering the reduced mass of the nanosystems, the
expected thermal signatures can be very small and specific micro- and nano-sensors
have to be developed in order to access measurable signals [4–6].
We are presenting here thermal conductance and heat capacity measurements

made on mesoscopic samples obtained from specific highly sensitive experimental
techniques. These experimental methods are based on the modulation of the temper-
ature at a well defined frequency and on the detection of the response of the nanosys-
tem at a higher harmonic (2f or 3f ). Measuring the thermal properties by modulating
the temperature has been first proposed by Corbino in 1911 [7, 8]. Since then, lots of
different techniques have been proposed; we will detailed the application of two of
them (the 3ω and the ac calorimetry) to low temperatures [9, 10].
In the first part, we present the measurement of thermal conductance using the 3ω

method. The thermal conductance of silicon nanowires of size 200 nm by 100 nm and
10 μm long have been measured down to 0.25 K. Above 1.2 K, the thermal transport
is perfectly described by the Casimir theory; the thermal conductance exhibits a cubic
law in temperature. A specific regime below 1.2 K has been evidenced with a change
from a cubic power law in temperature to a quadratic law illustrating a change in the
phonon transport regime which can be explain by a transition from purely diffusive
to partly ballistic transport. This increase of the mean free path is at the origin of the
breakdown of the 3ω method at very low temperature.
In the second part, we present highly sensitive calorimetric experiments dedicated

to mesoscopic samples. AttoJoule calorimetry is presented down to very low temper-
ature. We show that due to intrinsic limitation the lowest temperature of the cryostat
cannot be reached. We propose here to work out of the regular adiabatic conditions
with sensors better coupled to the heat bath to reduce the continuous gradient of
temperature allowing the measurement of mesoscopic systems down to dilution re-
frigerator temperature.

2 Thermal Conductance Measurement Using the 3ω Method

2.1 Experimental Method and Validating Tests

The 3ω method is a very sensitive method to measure the thermal properties of one
dimensional object like carbon nanotubes or nanowires [5, 9, 11]. Here we present
the measurement of individual silicon nanowires with a length of 10 μm and a cross
section of 200× 100 nm2. These nanowires are suspended between two pads of 250
μm2 where they are connected to the measurements apparatus by micro-bonding.
The sample geometry as well as the electrical connections are presented in Fig. 1.
All the device is covered by a thin layer of 30 nm of NbN, a thermometric element
undergoing a metal to insulator transition at low temperature which is an excellent
transducer with a high temperature coefficient of resistance α [12]:

α = − 1
R

dR

dT
. (1)
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Fig. 1 On the top, SEM images of a suspended silicon nanowire having a cross section of 200× 100 nm2
and a length of 10 μm covered by the NbN transducer; on the left, a closed view of the section of a
nanowire, the average roughness can be estimated to approximately 5 nm; on the right, a silicon suspended
membrane is shown at the basis of the next generation device for the thermal properties measurements of
smaller systems

The fabrication procedure has already been described in a previous paper [14].
A current of the order of a nanoamp at a low frequency f is applied to the system.

The power dissipated by Joule effect elevates the temperature along the nanowire
with a parabolic profile. The center of the suspended device is the hottest spot, and
heat is dissipated toward the heat bath. The temperature in the wire is oscillating
with the power applied, at two times the frequency of excitation. This oscillation of
temperature implies a variation of the resistance of the NbN layer. From the current
oscillating at 1f and the resistance oscillating at 2f , appears a voltage at three times
the frequency f . From the heat balance differential equation, it can be shown that
this voltage is linked to the thermal properties of the wire with the following expres-
sion [5]:

V3ω(t) = 4R2I 3acα

π4K(T )
√
1+ (2wγ )2

sin(3wt − ϕ) (2)

where γ is the characteristic thermal time constant.
The thermal conductance of the nanowire can be deduced from the measurements

through a lock-in amplifier of the 1f and the 3f voltage. The measurement of the
phase of the signal gives the value of the thermal time constant, in the order of the
millisecond. So at low frequency (below 10 Hz where f � 1/γ ), the expression of
the thermal conductance is simplified [5]:

|V3ω| = 4R2I 3acα

π4K(T )
. (3)
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Fig. 2 (Color online) Thermal
conductance measurements in
log scale of three different
nanowires with a section of
200× 100 nm2 and a length of
10 μm. Below 1.2 K, the thermal
conductance deviates from the
higher temperature power law.
The black line represents what is
expected from the Casimir
model (see (4))

Three preliminary tests are performed to insure the correctness of the experimental
results. First the nanowire is observed with the SEM microscope. Then the resistance
of NbN thermometer is calibrated versus temperature and finally it is verified that
the voltage at 3ω is following a cubic law with the applied current. The thermal
conductance of three different nanowires with the same geometry are presented in
Fig. 2 between 0.25 K and 4 K.
The thermal conductance approximates a cubic power law in temperature above

1.2 K, typical of the Casimir regime. In the Casimir theory, the phonons are diffracted
in all directions when they reach the surface of the wire; the scattering occurs only on
the boundaries of the nanowire which are considered as perfect phonon black bodies
[13]. Hence, the mean free path ΛCas is only limited by the cross section of the wire.
We can use a simple formula to estimate this value in the case of a rectangular cross
section: ΛCas = 1.12

√
LA × LB where LA = 100 nm and LB = 200 nm are the

two dimensions of the nanowire section, then the mean free path is estimated to be
ΛCas = 160 nm. Berman et al. give a general formula in order to evaluate the thermal
conductance [13, 15, 16]:

K = 3.2× 103
(
2π2k4B
5�3v3s

) 2
3 SΛCas

L
T 3 (4)

where S and L are respectively the section and the length of the nanowire, and vs is
the speed of sound set to 6500 m s−1 in silicon. This model gives the correct order
of magnitude for the thermal conductance of the silicon nanowire, for instance at 3
K the Casimir model predict a value for KCas = 3.2× 10−11 W/K and the measured
value is around Kmeas = 2.9× 10−11 W/K. So down to 1 K the agreement between
the Casimir model and the measurement is quite correct. However, as it can be seen in
Fig. 2 below 0.8 K the disagreement is significant and we think that it may originate
from the measurement itself due to the low value of the temperature.
Indeed, in this model it is implicitly assumed that the mean free path ΛCas does

not depend on temperature (λdom = hvs/2.82kBT , where vs is the sound velocity).



�!)

154 J Low Temp Phys (2009) 154: 150–160

This is true only if each phonon are scattered at the surface, as long as the dominant
phonon wavelength is much smaller than the RMS amplitude of the roughness η0.
This assumption, generally true at high temperature, becomes wrong if the tempera-
ture is decreased, and then the dominant phonon wavelength begins to be comparable
to or larger than η0. At 1 K, λSi

dom approximates 60 nm, and the average of the rough-
ness can be estimated from the SEM image to be 5 nm. As a consequence, below 1 K,
this model does not give a correct description of the experimental data. This may orig-
inate from the order of magnitude of the mean free path, becoming as the temperature
decreases, much bigger than the diameter not to say the length of the nanowire. This
limits obviously the application of the 3ω method for the measurement of dielectric
nanowires at very low temperature, as explained in the next section.

2.2 Limitations in the Ballistic Regime at Very Low Temperature

The major hypothesis of the 3ω method is the description of the heat transport using
the Fourier equation to obtain the value of the thermal conductance. In particular, a
local temperature has to be defined [17] in the dielectric wire under the thermometer.
Intuitively, the local temperature may have a physical sens over a minimum volume
given by Λ3ph, where Λph is the true phonon mean free path in the silicon.
We have developed a model inspired by the work of Ziman (see [15]) to estimate

the mean free path of the phonons in a dielectric nanowire at low temperature. At
sufficiently high temperature, as long as the dominant phonon wavelength is smaller
than the roughness of the nanowire, the system is entirely diffusive, the mean free
path is limited by the smallest dimension of the nanowire, here the cross section.
When the temperature is decreased, the dominant phonon wavelength becomes of
the same order as the size as the asperities of the nanowire. A competition between
diffusive and ballistic regime occurs. To take into account this intermediate regime,
we have used the Ziman theory where the mean free path Λph can be expressed as
follow:

Λph = 2− e−λdom(T )/4πη0

e−λdom(T )/4πη0
ΛCas (5)

where η0 is, as already mentioned, the RMS value of the roughness of the nanowire;
the detailed calculation will be presented in a forthcoming publication [18]. The RMS
roughness has been estimated to be of 5 nm, a very relevant order of magnitude
for the roughness of nanowires made by e-beam lithography, in harmony with the
observation from the high resolution SEM images. The variation of the mean free
path in temperature is given in Fig. 3.
At 1 K, the mean free path approximates 1 μm, and at 0.5 K, 10 μm, the length

of the wire in the silicon nanowire. The notion of local temperature loses its physi-
cal signification in this temperature range, Equation (4) used to deduce the thermal
conductance from the 1f and the 3f voltage is not anymore valid for the dielectric
nanowire. The experimental data in this temperature range are quite reproducible be-
tween the different nanowires, but a new treatment is necessary to obtain the thermal
properties. The deviation from the cubic power law of the thermal conductance ver-
sus temperature below 1 K observed in the Fig. 2 may be attributed to this increase of
the phonon mean free path. In this scenario, a possible thermal decoupling between
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Fig. 3 Numerical calculation of
the phonon mean free path
versus temperature of a silicon
nanowire having a rectangular
cross section of 100 nm by 200
nm

the thermometer and the nanowire is envisage. And even at the lowest temperature,
the 3f voltage may be only sensitive to the thermal properties of the thermometer on
top of the dielectric nanowire due to the decoupling of the phonon originating from
both layers. If this eventuality is true, then it limits the use of the 3ω method at very
low temperature when the geometry is like in our device: the transducer is deposited
on top of the sample to be measured.
We are then currently developing membrane based devices to explore the thermal

conductance of such nanowires in the very low temperature field (see Fig. 1). The
perspectives on thermal conductance measurement of smaller systems is to use al-
ternative experimental technique. In the new geometry, the measurement of single
nanowire will be made between two platforms having different temperatures [19].

3 Specific Heat Measurement Using ac Calorimetry

Amongst the numerous methods allowing the measurement of heat capacity by the
modulation of the temperature, the ac calorimetry is the one giving generally the best
signal to noise ratio [10, 20]. The ac calorimetry experimental technique based on
very low noise preamp and lock-in amplifier measurement chain gives a sensitivity
which is then very competitive. It has been shown recently that this highly sensitive
technique is particularly suitable for the measurement of mesoscopic systems of very
small mass [21, 22].
We will first briefly describe the measurement procedure of this method, illustrated

by the presentation of heat capacity measurements at dilution refrigerator tempera-
tures. The intrinsic limitation comes from the continuous gradient of temperature with
the heat bath. With this ac method, it is difficult to perform measurement at the lowest
temperature of the cryostat. Then, we will see what can be proposed to overcome the
limitations described previously.
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3.1 ac Measurement at Very Low Temperature

The calorimetric cell, which is used for low temperature measurements, is composed
of a silicon membrane. On this membrane, which is partly thermally isolated, a heater
and a thermometer are microfabricated by regular photolithography. The ac calorime-
try consists in applying an alternative current to the heater of the calorimetric sensor
at a frequency f . The heat power dissipated by the Joule effect of that current creates
an oscillation of the temperature of the sensor at twice the frequency (2f ). Depend-
ing on the frequency, the amplitude of the temperature oscillation is a function of K

and C, where K is the thermal leak between the membrane and the heat bath and C

the heat capacity of the total calorimetric cell. Two important time scales plays a role
in this method: the time characterizing the heat flow to the heat sink which is given
by τ = C/K , the second important characteristic time related to the diffusion in the
sensor τdiff .
If one wants to be only sensitive to the heat capacity, the frequency of the temper-

ature oscillation has to be larger than τ−1 and smaller than τ−1
diff in order to fulfill

the so-called adiabatic conditions [10]. In this case, it can be demonstrated that the
specific heat is given by:

C = RchI
2
0

2ωδTac

(6)

where Rch is the resistance of the heater, ω the pulsation of the oscillating current I =
I0 cos(ωt) and δTac the RMS value of the amplitude of the temperature oscillation
measured by the thermometer.
This oscillation of temperature is also associated to a continuous gradient of tem-

perature coming from the continuous term of PHeater = RI 2ac = RI 20
2 (1+ cos(2ωt)),

the power dissipated in the heater. The dc temperature gradient is given by:

δTdc = Tdc − TB = RI 20

2K
(7)

where TB is the temperature of the heat bath. There is a simple relation between the
dc and the ac temperature:

δTdc

δTac

= ωC

K
= ωτ (8)

Under adiabatic conditions, generally ωτ is of the order of 10. This dc temperature
Tdc is the major limitation of the ac technique at very low temperature. That gradient
of temperature should be kept smaller than TB if one wants to apply the regular equa-
tions of the ac calorimetry. Indeed, it will be very difficult for the experimentalist to
reach the lowest temperature of the cryostat reducing the capacity of the experimental
set-up. As it is illustrated in the Fig. 4, the δTdc can be as big as 150 mK for a baseline
temperature of TB = 50 mK. This gives a working temperature of 200 mK which is
far too high. The current used in this experiment is I0 = 1 μA giving a temperature
oscillation of δTac = 15 mK. In the next section, we will present an adaptation of the
ac calorimetry technique which will allow the reduction of the continuous thermal
gradient without degrading significantly the sensitivity of the experiment.
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Fig. 4 In the upper panel, the
measurement of Cp is presented
versus the temperature of the
regulated baseline temperature
(TB ). In the lower panel, the
real temperature of the sensor
Tsens is presented versus the
regulated temperature of the
baseline, demonstrating the
existence of a gradient of
temperature of 150 mK between
the baseline and the sensor at the
working temperature of 50 mK

3.2 Nonadiabatic Heat Capacity Measurement Method

What we are proposing here resides in increasing the thermal conductance between
the membrane and the heat bath, but without changing the measuring frequency, in
order to diminish the continuous thermal gradient. In other word, the hypothesis of
f � τ−1 will not be valid anymore. Then, the system will not be considered as quasi-
adiabatic anymore.
We show in the following that by working under these conditions, the Tdc can be

severely reduced keeping a signal-to-noise ratio practically unchanged. In our cal-
culation, we will also assume that we keep an oscillation of temperature which is
unchanged. This δTac is generally fixed by the physics and the working temperature
and is not an adjustable parameter.
In order to calculate the new equations governing the amplitude of the temper-

ature oscillation, let us summarize our hypothesis: the thermal conductance will be
multiply by β: K2 = βK1 and P2 the power dissipated in the heater is then adjusted
to keep δTac constant. If one wants to work at a lower frequency that the one corre-
sponding to the adiabatic conditions, one has to extend formula (6) in order to include
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the contribution of the thermal conductance K :

δTac = P2

ωC

(
1+ 1

(ωτ2)2

)−1/2
(9)

where τ2 = C/K2. Indeed, at low frequency, an increasing part of the oscillation of
the temperature is actually sensitive to K and not only to C. This is now taken into
account in (9). Then the new continuous gradient of temperature δTdc2 can be written:

δTdc2 = ωC

K2
(10)

which becomes, using (9) and (10):

δTdc2 ≈ δTdc1

β

√
1+

(
β

ωτ1

)2
(11)

where ωτ1 ≈ 10 as explained in the previous paragraph. For instance, if β ≈ 5 then
δTdc2 ≈ δTdc1/4.6. Then instead of having an increase of temperature of 150 mK
(like in our experiment shown in Fig. 4) we can expect an δTdc2 of 31 mK. This
would allow a measurement of heat capacity at 70 mK instead of 200 mK, which is a
significant progress, even if it can be still improved.
This advantage has of course a price which is a loss of sensitivity. This loss of

sensitivity, in terms of the measurement of heat capacity, is coming from the fact that
a certain amount of the oscillating power is now absorbed by the thermal conductance
and not only by the heat capacity. The new δTac given in (9) is then a function of
two variables C and K . It is indeed difficult to separate the two contributions and
extract the real signal to noise ratio related to the measurement of the heat capacity.
However, we can give an estimation of the ratio between the power absorbed by the
heat capacity and the total power dissipated in the heater (P2) in this non adiabatic
regime. From (9) we know that:

P2 =
√

(ωCδTac)2 + (KδTac)2 (12)

where the first term is related to the heat capacity and the second to the thermal
conductance. Then we can define the ratio ρpower as:

ρpower = ωCδTac√
(ωCδTac)2 + (KδTac)2

(13)

which gives the ratio between the signal used for the measurement of the heat capacity
and the total power dissipated in the heater. The part of the power which is sensitive
to the thermal conductance is considered as lost. This ratio ρpower is giving an idea of
the decrease of sensitivity of the experiment when increasing the thermal conductance
of the membrane sensor. Then ρpower can be expressed using only β and ωτ1 like
in (11):

ρpower = 1√
1+ (

β
ωτ1

)2
. (14)
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Fig. 5 (Color online) The ratio
between δTdc2 and δTdc1
(straight lines) and the power
ratio ρpower (dashed lines) as
calculated from (11) and (14) as
a function of β for two different
ωτ1: ωτ1 = 5 (red lines) and
ωτ1 = 10 (blue lines)

We did a numerical estimate of the decrease of sensitivity when increasing the
thermal conductance by a factor β ≈ 5. The sensitivity is only reduced by 10%, which
is relatively small as compared to the decrease in the temperature gradient by a factor
of 4.6. The variation of the sensitivity of the experiment given by ρpower will not be
too much affected by measuring in this regime as soon as β is kept smaller than 10.
Two different illustrations are given in the Fig. 5 where the evolution of δTdc2/δTdc1
and ρpower are plotted versus the value of β for two different thermalization time ωτ1.
There is however a limitation, when increasing too much the thermal conductance of
the sensor, in other word when β tends to∞, the resolution is going to zero, because
the amplitude of the δTac is only dependent on the thermal conductance K and not
anymore on C.
This is demonstrating that by working out of the adiabatic conditions, at lower

frequency, we can severely reduced the base temperature of the sensor at which the
measurement of the heat capacity is performed without degrading significantly the
sensitivity. This method will be used in future highly sensitive experiment of heat
capacity measurement made in dilution refrigerator on mesoscopic objects [21, 22].

4 Conclusion

We have generally shown the limitation of the temperature modulated techniques
applied for low temperature thermal experiments. First, we have demonstrated that
the 3ω cannot work anymore when the mean free path is increasing up to the size of
the nanosystems. The predictions for thermal conductance from the Casimir model
are in disagreement with the measurement below 1 K. This is possibly attributed
to the constant increase of the mean free path and hence to the eventual thermal
decoupling between the silicon nanowire and its NbN thermometer. Great care has to
be taken when using the 3ω method at very low temperature; the better situation is
when the sample to be measured is also the thermometer.
Also it was shown that specific sensors dedicated to the calorimetric measurement

of mesoscopic objects in a dilution refrigerator are being developed. The improve-
ment will be to work out of the adiabatic conditions to reduce the continuous thermal
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gradient between the sensor and the heat bath which cannot be completely avoided.
This will allow new measurements at very low temperature of heat capacity with the
ac calorimetric method.
The future trends reside now in the development of new highly sensitive sensor

down to the nanometer scale, which could be called Nano ElectroThermal Systems
(NETS). Low and very low temperatures imply various constraints for the heat trans-
fer (ballistic transport of phonons, decoupling of electrons and phonons) as well as
instrumental restrictions for the experimental method which has to be taken into ac-
count when designing a specific thermal sensor at the nanoscale.
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ABSTRACT

We report the measurement of thermal conductance of silicon nanowires at low temperature. It is demonstrated that the roughness at the
nanometer scale plays a crucial role for the phonon transport in low-dimensional samples. To this end, using e-beam lithography, nanowires
of size 200 nm by 100 nm and 10 μm long have been nanofabricated. Their thermal properties have been measured using the 3 ω method
between 0.3 and 6 K. The change in the temperature behavior of the thermal conductance (quadratic temperature dependence of K(T)) is a
signature of an intermediate regime lying between the classical Casimir regime and the quantum regime. The Casimir-Ziman model is used
to show that this specific behavior originates in mesoscopic samples where the dominant phonon wavelength becomes commensurate to the
characteristic length of the roughness of the nanowire surfaces.

Nanosystems like semiconductor nanowires or carbon nano-
tubes can have remarkable thermal properties.1 Thanks to a
large number of calculations and experiments, the relevant
parameters that control the phonon transport at the nanoscale
are beginning to be identified.2-9 Low-dimensionality may
have dramatic consequences on the thermophysical properties
of materials (thermal conductance, its temperature depen-
dence, figure of merit ZT, etc.)10-13 however their true origins
have yet to be clearly understood.14-16

At the nanoscale, the heat transport is controlled by the
competition between the various characteristic lengths like
the phonon mean free path, the dominant phonon wavelength,
the nanowire roughness amplitude, and of course, the
dimension of the samples itself. The finite dimensions
strongly affect the phonon transport through the boundary
scattering processes or the phonon confinement, leading to
strong changes in the thermal conductance. At high temper-
ature, these characteristic lengths can be very small and hence
the fabrication and the measurement of samples having
competitive dimensions is tedious. By working at very low
temperature, even if the thermal measurement is challenging,
all these length scales are increased dramatically, giving birth
to specific thermal behaviors like quantum effect (the
universal thermal conductance)17-19 or new boundary scat-
tering processes.20,21

In this letter, we present measurements of thermal con-
ductance of mechanically suspended individual silicon
nanowires at low temperature. We demonstrate the significant

role played by the surface roughness on the phonon transport
at the nanoscale. The unexpected power law change in the
temperature variation of the thermal conductance is the
signature of the competition between the dominant phonon
wavelength and the amplitude of the roughness of the
nanowires. The scattering of phonons on the surface of the
nanowire is strongly modified when the temperature is
lowered because the wavelength of the heat carriers increases,
becoming bigger than the mean value of the asperities. At
the lowest temperature, the Casimir theory breaks down
because the surface of the thermal conductor can no longer
be considered as a pure phonon blackbody.22

The nanowires are fabricated from silicon on insulator
substrate by e-beam lithography; they have a length of 10
μm and a cross-section of 200 × 100 nm2. After the beam
is released by vapor HF etching, a niobium nitride (NbN)
highly resistive thermometer 30 nm thick is sputtered on top
(see ref 23 and Figure 1). The fabrication from a monolithic
silicon layer insures an optimized connection of the nanow-
ires to the heat bath. To highlight mesoscopic effects, the
section and the roughness of the nanowire have been
designed to be on the order of the dominant phonon
wavelength for silicon, λdom )100 nm at 1 K (λdom ) hVs/
2.82kBT, where Vs is the sound velocity).24 The measurement
of such small systems is systematically challenging.23,25,26

Here we use the 3ω method,26,27 which has been already
described elsewhere,23 to measure the thermal conductance
over the temperature range of 0.3 to 6 K. This method is
particularly well adapted to the measurement of mechanically
suspended nanowire. We use a specific low noise measure-
ment chain composed of a very stable low current source

* Corresponding author. E-mail: jean-savin.heron@grenoble.cnrs.fr (J.S.H.);
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(its temperature coefficient is less than 1 ppm/K) and a
preamplifier having a noise smaller than 1 nV/�Hz. The
amplitude of the voltage measured by the lock-in amplifier
is of the order of few hundreds of nanovolt, corresponding
to an amplitude of the oscillation of temperature ranging
between 1 and 10 mK. The accuracy is set by the measure-
ment chain which is estimated to be better than 1%; the noise
can be estimated to be on the order of 5% of the total signal.
The frequencies used for the alternating current range from
5 to 10 Hz.

The 3ω method consists in applying an oscillating current
(of the order of one nanoamp) at a frequency f in the
thermometer, creating an oscillation of temperature due to
the power dissipated by the applied current (of the order of
picoWatt). So the current is oscillating at ω ) 2πf, the
temperature and hence the resistance are oscillating at 2ω;
the thermal information is contained in the voltage part
measured at 3ω. The method can be applied as long as a
local temperature can be defined all along the system which
is the case in our diffusive nanowires.

At low frequency, the period of the signal is smaller than
the thermalization time of the system to the heat bath, then
the relation between the 3ω voltage and the thermal
conductance is given by23,26

where R is the thermometric resistance and R ) 1/R × dR/
dT the temperature coefficient of the thermometer. At high
temperature (above 4 K), the coefficient R decreases and the
thermal conductance increases and then a high current has
to be used to keep a correct signal-to-noise ratio. However,
when increasing the current, the 1f component becomes too
big as compared to the 3f component, which strongly perturbs

the measurement chain, and hence the relation V3ω ∝ Iac3

may not be fulfilled. Only the results following the relation
V3ω ∝ Iac3 are then presented to ensure a high degree of
confidence for the extracted thermal conductance. This
explains why the thermal conductance of some samples is
not displayed over the entire temperature range. The mea-
sured thermal conductance of four samples having identical
geometrical parameters are presented in Figure 2. All the
samples show the same tendency for the temperature
dependence of the thermal conductance, indicating good
reproducibility between different samples. At the highest
temperature, the thermal conductance has a cubic power law
dependence in temperature as expected in the Casimir
theory.22

In the Casimir model, the thermal transport is described
by the following: the phonons are diffracted in all directions
when they reach the surface of the wire; the scattering occurs
only at the boundaries of the nanowire, which are considered
as perfect phonon black bodies. Hence, the mean free path
ΛCas is limited only by the cross-section of the wire; in the

Figure 1. SEM image of a suspended silicon nanowire before and after the deposition of a thin layer of NbN; the curving of the wire is
induced by the strain of the transducer.

V3ω )
4R2Iac

3 R

π4K(T)
(1)

Figure 2. Thermal conductance versus temperature of four nanow-
ires K3, K5, K7, and K8, having a geometry of 10 μm in length
and a cross-section of 200 × 100 nm2.
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case of a rectangular cross-section (LA × LB) given by LA )
100 nm and LB ) 200 nm, ΛCas ) 1.12(LA × LB)1/2, so ΛCas

) 160 nm.22,24 Berman et al. used this model to give a general
formula of the thermal conductance28

where S and L are, respectively, the section and the length
of the nanowire, and Vs is the speed of sound set to 6000 m
s-1 in silicon. In this model, it is implicitly assumed that the
mean free path ΛCas does not depend on temperature. This
is true only if each phonon is scattered at the surface, which
means that the phonon wavelength is much smaller than the
mean value of the surface roughness. As this assumption is
generally true at temperatures above 10 K, this might be
wrong at lower temperatures, where the dominant phonon
wavelength (see eq 1) begins to be comparable to the
characteristic length of the asperities of the nanowire.
To examine more closely the temperature dependence of

the thermal conductance, K(T) of the four samples have been
replotted in the Figure 3, normalized by eight times the
universal value17,19

This is justified by the fact that the thermal conductance is
close to this universal order of magnitude. Even if the
temperature range is too high to see the quantum regime, it
is very interesting to be able to compare the measurements
to this absolute value. This way of presenting the data can
be seen as a normalization to the inverse of the temperature,
which is convenient to highlight the change in the temper-

ature dependence of the thermal conductance.
Indeed, when analyzing Figure 3, a deviation from the

cubic law can be observed below 3 K. Between 1 and 3 K,
the temperature dependence of the thermal conductance is
more quadratic, a signature of a profound change in the
phonon transport mechanisms at these mesoscopic scales,
and then cannot be described by the Casimir theory through
the eq 2. The change in the power law is illustrated in the
inset of the Figure 3.
To elaborate a model of that behavior, we have used the

Casimir model modified by Ziman.24 In the framework of
that model, one can calculate the variation in the mean free
path of the phonons as a function of temperature in a given
nanowire through a phenomenological parameter p(λ,T). This
parameter describes the probability of a phonon of wave-
length λ at the temperature T to be specularly reflected. When
p ) 0, an incident phonon on the surface will be scattered
in every directions (this is the limit of the Casimir model of
perfectly rough surfaces), on the other hand, when p ) 1,
every single phonon will be specularly reflected when hitting
the surface, the case of perfectly smooth surfaces. Then we
can express the new mean free path Λph using the following
expression

with a physical limitation to the length of the nanowire
expressed through the Matthiessen rule

where L is the length of the nanowire. Equation 5 expresses
that the mean free path cannot be bigger than the length of
the nanowire in this model.
The parameter p(λ,T) is itself calculated with

where P(η) is the distribution of probability of the roughness
amplitude and η is the variance of the roughness amplitude.
The fitting of the experimental data is done using the eq 2
where the Casimir mean free path ΛCas is replaced by Λph

(see eqs 4 and 5). The best adjustment presented in the Figure
3 (orange curve) has been obtained for a distribution of
probability given by

where η0 can be seen as the mean value of the roughness
set to 4.4 nm. This value of 4.4 nm is of great importance
because it gives a very relevant order of magnitude for the
roughness of the nanowires in perfect agreement with what
can be expected from nanowires made by e-beam lithogra-
phy.

Figure 3. Thermal conductance of the four wires normalized by
eight quanta of thermal conductance. The fitting curve obtained
from the Casimir-Ziman model is in orange. The log-log plot in
the inset emphasizes the power law change of the temperature
dependence of the normalized thermal conductance as function of
temperature: from a T 3 dependence at high temperature to a T 2 at
intermediate temperature, and finally a return to a T 3 law below 1
K.

K ) 3.2 × 103(2π2kB45p3Vs
3 )
2

3SΛCas

L
T 3 (2)

K0 )
π2kB

2T

3h
(3)

Λeff )
1 + p(λ, T)
1 - p(λ, T)

ΛCas (4)

Λph
-1 ) Λeff

-1 + L-1 (5)

p(λ, T) ) ∫0∞ P(η)e-π
16π2η2

λ2 dη = ∫0λdom/4π P(η)dη (6)

P(η) ) 1
η0

e-η/η0 (7)
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The agreement between the fit and the data is very good
and gives a good idea of what is going on in terms of phonon
transport and scattering in a nanowire at such temperature.
As the temperature is lowered, the phonons have a dominant
wavelength that becomes bigger than the average roughness
and hence they are more and more specularly reflected at
the surfaces. At low temperature when λdom . η0, the surface
is like a mirror for most of the phonons, dramatically
changing the mechanism of thermalization at the nanoscale.
Hence the mean free path is increasing and becomes on the
order of the length of the nanowire; the calculated temper-
ature variation in the mean free path is given in Figure 4.
It can be noted that the thermal conductance of these

nanowires is below the universal value given in eq 3, even
if the system cannot be in the quantum regime in this
temperature range. In the low-temperature regime, as can
be seen in Figure 3, the Casimir-Ziman model does not give
a correct account of the measured thermal conductance. Two
scenarios are possible here. First, because of the increased
proportion of specular reflection, the 3ω method may no
longer give the correct value of the thermal conductance; if

that hypothesis is valid, then one should not attribute too
much credit to the K(T) value at the lowest temperature.
On the other hand, in the second scenario, if we assume that
the 3ω method is properly working, we should go back to
the model and include the contribution of the thermal contact
between the nanowire and the thermal bath. This connection
is indeed an abrupt junction and may play a role at low
temperature, which has been neglected in the first fit. At very
low temperature, the abrupt nature of the contact between a
nanowire and a substrate has been considered by several
authors29-32 when calculating the thermal conductance. In
that situation, the thermal conductance of the contact Kc is
in series with the one of the nanowire KN, then the total
thermal conductance KT is given by KT-1 ) Kc-1 + KN-1.
The following references29,31,32 predict for such Kc a tem-
perature variation given by Kc ∝ Tδ, where δ is the dimension
of substrate; the formula for a 3D substrate is given by29,31

where R is the smaller radius of the nanowire (50 nm), Vs
the transverse speed of sound, and t a parameter that depends
only on the substrate. For a 3D silicon substrate, we expect
t ) 0.923.29 This exact expression of Kc given in eq 8 has
been used without any adjusted parameter is series with the
thermal conductance of the nanowire (given by eqs 2, 4, and
5) to perform the second fit. We have only adjusted the value
of the roughness to 3.5 nm (instead of 4.4 nm in the first
fit); this new fit is given in the Figure 5. The global
agreement is quite good and describes correctly the thermal
conductance trend even at the lowest temperature. The
conclusion is that the contact thermal resistance takes over
the heat transfer as the temperature is lowered. The cubic
power law measured at the lowest temperature is indeed in
good accordance with this prediction. This abrupt connection
of the nanowire to the heat bath may be the cause of the
low value of the thermal conductance measured below 1 K
in such nanostructures because of the presence of a thermal
contact resistance between the nanowire and the bulk pads.
In summary, we have evidenced the existence of a specific

regime for the transport of phonons at low temperature
through the measurement of the thermal conductance of
silicon nanowires. These measurements are correctly de-
scribed by the Casimir-Ziman model above 1 K. It was
shown that the competition between the mean value of the
roughness and the dominant phonon wavelength plays a
crucial role in the thermal transport at these mesoscopic sizes.
The thermalization of the phonon on the surfaces is strongly
modified at the nanoscale and the mean free path of phonons
increases dramatically. This is of major importance for the
thermal physics of bolometer,33 nanocalorimeters,34-36 MEMS
and NEMS37,38 where the control of heat at the nanoscale is
generally the key point especially for applications like in
phononic transistor,39,40 thermal diodes (thermal rectifica-
tion),41,42 or for more complicated geometry.43 The results
obtained in this study can be generalized at high temperature
for smaller size nanowires, only a smaller roughness will

Figure 4. Mean free path of the phonons in the silicon nanowires
as a function of the temperature as calculated in the Casimir--
Ziman model for a mean free path ΛCas ) 160 nm.

Figure 5. Thermal conductance plotted with the second fit obtained
by taking into account the thermal resistance of the contact of the
nanowire with the Si bulk pads. The log-log plot in the inset gives
a zoom of the low-temperature behavior, indicating the very good
agreement between the fit (in orange) and the experimental data.

Kc )
2π3

15

kB
4

p3
tR2

Vs
T 3 (8)
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have to be considered. It has significant implications for
modern applications in the field of thermoelectricity with
nanowires15,16 in order to severely improve the ZT coef-
ficients. Artificial roughness may be created on nanowires
commensurate to the dominant phonon wavelength in order
to block part of the phonon transport and hence degrade the
phonon thermal conductivity and get a better figure of merit.
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